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H kk xH kk xH kk xH kk x – I / PART – I 

ck y f odkl ,o a f 'k {k k' kkL=ck y f odkl ,o a f 'k {k k' kkL=ck y f odkl ,o a f 'k {k k' kkL=ck y f odkl ,o a f 'k {k k' kkL= / CHILD DEVELOPMENT & PEDAGOGY 

funs Z'k %funs Z'k %funs Z'k %funs Z'k %     fuEufy f[kr iz'u ks a d s mÙkj nsu s d s fy ,     l cl s mfp r l cl s mfp r l cl s mfp r l cl s mfp r f od Yi p qfu,A 
Direction : Answer the following questions by selecting the most appropriate option.    

1. fuEu kafd r es a l s d kSu&l h l ad Yiuk  l qizfl ) 
^ckscks M kWy* iz;ksx ls l acaf/k r gS \ 

(1) varn Z̀f" V  vf/k xe 

(2) f ujh{ k.kk Red  vf/k xe 

(3) u Sfrd  fodk l  
(4) vu qcaf /kr vu qfØ ;k 

  1. Which of the following concept is 

derived from famous 'Bobo Doll' 

experiment ? 

(1) Insightful learning  

(2) Observational learning 

(3) Moral development  

(4) Conditioned response 

2. Ý k ;M d s euk syS af xd  fo dkl  d s fl )kar d h 
^y S afxd  voLFkk*  dk  v k;q&f oLrk j]  , fjDl u ds 
euk slke kftd  f od kl  d h f uEuk afd r es a l s fdl  
vo LFkk  d s l erqY; gS \  

(1) f o'o kl  cu ke vfo 'ok l  
(2) Lo k;Ùkrk  cu ke 'k eZ , oa l ansg 

(3) igy c uk e vijk/k  cks/k  

(4) igpku cuke Hkwfedk Hkze (Role Confusion) 

  2. The age range of Genital Stage of 

Freud's theory of Psycho-sexual 

development is similar to which of the 

following stage of Erikson's theory of 

Psycho-social development ? 

(1) Trust vs mistrust  

(2) Autonomy vs shame & doubt 

(3) Initiative vs guilt  

(4) Identity vs role confusion 

3. fd 'kksjk sa d k ;g egl wl  d juk ^l Hkh e sjh  v ksj 
ns[k  jgs gS a* dk s l aKk  nh t k l d rh  gS % 

(1) O ;f Drx r feFk d  
(2) d kYifud n'k Zd 

(3) , uk sjsfDl ;k uoks Zl k 

(4) cqfy fe;k  uo ks Zl k 

  3. The feeling of adolescents, "Everyone is 

looking at me", can be termed as : 

(1) Personal fable  

(2) Imaginary audience 

(3) Anorexia Nervosa  

(4) Bulimia Nervosa 

4. vu qiz;qDr O;ogkj fo 'ys" k .k (Applied 

Behaviour Analysis or ABA) fuEu kafd r es a 
l s f dl  fl )kar ij vk /kkfjr gS \ 
(1) 'k kL= h; v uqca/ku  
(2) f Ø ;k izl wr vu qca/ku 

(3) varn Z̀f" V  vf/k xe  
(4) f ujh{ k.kk Red  vf/k xe 

  4. Applied Behaviour Analysis is based on 

principles of : 

(1) Classical conditioning  

(2) Operant conditioning 

(3) Insightful learning  

(4) Observational learning 
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5. ^;qo k fd 'kksjksa d h ;g e kU;rk  f d o s iw.kZr;k  
fd l h vU ; O;fDr l s fHkU u gS a*] d ks tku k tk rk 
gS % 

(1) O ;f Drx r feFk d   

(2) d kYifud n'k Zd 

(3) vk Re Kku  

(4) vk Re ksn~? kkV u 

  5. 'Young teen-agers often believe that 

they are completely unlike any one 

else.' This phenomenon is known as : 

(1) Personal fable  

(2) Imaginary Audience 

(3) Self realization  

(4) Self disclosure 

6. fujh{k .kk Red  vf /kxe ds pkj rRo ks a d k l ghl ghl ghl gh  
Ø e D;k  gS \ 

(1) vo /k ku → vfHk iz sj.kk → /k kj.k d juk 
→ iqu#R ik nu 

(2) vo /k ku → /kk j.k d juk  → iqu#Riknu 
→ vf Hkiz sj.kk 

(3) vo /k ku → iqu#Riknu → /k kj.k d juk 
→ vf Hkiz sj.kk 

(4) vo /k ku → /kk j.k d ju k → vfHk iz sj.kk 
→ iqu#R ik nu 

  6. What is the correct sequence of four 

elements of observational learning ? 

(1) Attention → Motivation → 

Retention → Reproduction  

(2) Attention → Retention → 

Reproduction  → Motivation 

(3) Attention → Reproduction → 

Retention → Motivation 

(4) Attention → Retention → 

Motivation → Reproduction 

7. fuEu kafd r e s a l s dk Su&l k d Fk u f i;kt s ds 
l aKku kR ed  f od kl  d s fl )k ar d s lanHkZ e s a l gh 

u gh au gh au gh au gh a  gS \ 

(1) ;g bl  e kU ;rk ij vk /kk fjr gS fd  
f od kl  ,d  vl rr izf Ø ;k gSA  

(2) ;g bl  e kU;rk ij vk/ kkf jr gS f d  cPp s 
l fEeyu , oa vkRelkrh d j.k }kjk  l h[krs 
gS aA 

(3) ;g bl  e kU ;rk ij vk /kk fjr gS fd  
f od kl  ,d  l rr izf Ø ;k gSA 

(4) ;g bl  e kU ;rk ij vk /kk fjr gS fd  
l aKk ukRed  fod kl  pkj pj.k ksa es a gksrk gSA 

  7. Which of the following statement is not 

true about the theory of cognitive 

development given by Jean Piaget ? 

(1) It believes that development is a 

discontinuous process.  

(2) It assumes that children learn 

through assimilation and 

accommodation. 

(3) It believes that development is a 

continuous process. 

(4) It believes that cognitive 

development takes place in four 

different stages. 
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8. th ou Lisl  ¼{ks=½  d h  l ad Yiuk ] , d  Hkk x gS % 

(1) 'k kL= h; v uqca/ku d k  

(2) f Ø ;k izl wr vu qca/ku d k 

(3) varnZ `f" V  vf/k xe dk  

(4) y sfo u {k s= fl )kar dk 

  8. The concept of 'Life Space' is a part of : 

(1) Classical conditioning  

(2) Operant conditioning 

(3) Insightful learning  

(4) Lewin's field theory 

9. ud kjkRed  iqucZyu , o a naM es a D;k  l aca/k gS \ 

(1) nksu ksa fdl h  v uqfØ ;k  dks l qn`< + cu krs gS aA 

(2) nksuksa fdlh vuqfØ;k dks detksj djrs gSaA 

(3) ud k jkRed iqucZyu fd lh  vuqf Ø ;k dks 
n`< + c uk rk  gS t cf d  naM fdl h  vu qfØ ;k  
d ks d etksj cuk rk  gSA  

(4) ud k jkRed iqucZyu fd lh  vuqf Ø ;k dks 
d etksj cuk rk  gS t cf d naM fd lh 
vu qfØ ;k  d ks n`<+ cuk rk  gSA 

  9. What is the relationship between negative 

reinforcement and punishment ? 

(1) Both tend to strengthen a response 

(2) Both tend to weaken a response 

(3) Negative reinforcement strengthens 

a response whereas punishment 

weakens a response.  

(4) Negative reinforcement weakens a 

response whereas punishment 

strengthens a response. 

10. ;fn , d  fØ ;k d h  vko f̀ Ùk fd l h nwl jh 
fØ ;k @d k;Z l s vf/kd  gS rc igyh  fØ ;k  d k 
mi;ksx] nwl jh fØ ;k @d k ;Z ft ld h  vk o `fÙk d e 
gS] ds fy , iqucZyu d s :i es a fd ;k  tk ld rk 
gSA ;g fl ) kar gS % 
(1) iz he Sd  dk  fl )k ar  
(2) Fk kWu ZMk bd  d k fl )kar 

(3) f Ld uj d k  fl )kar  

(4) iko yk so  d k fl )kar 

  10. If one activity occurs more often than 

another, it can be used to reinforce the 

activity that occurs less often. This 

principle is known as : 

(1) Premack's principle  

(2) Thorndike's principle 

(3) Skinner's principle  

(4) Pavlov's principle 

11. fuEu kafd r es a l s d kSu&l k f LFkj varjky 
iqucZyu d k mnkgj.k ugh augh augh augh a  gS \ 

(1) izfre kg osru iz kI r d ju k  

(2) , d  O;Lr u acj M k;y d ju k 

(3) vk of /kd  : i l s nar& tk¡p  d s fy , tk uk 

(4) izfro " kZ o sruo `f) feyu k 

  11. Which of the following is not an 

example of fixed interval schedule of 

reinforcement ? 

(1) Getting salary every month  

(2) Dialing a busy number 

(3) Having a periodic dental checkups 

(4) Getting increment every year 
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12. fuEufy f[kr es a l s d kSu&lk fod Yi vkWf VT +e 
LisDVªe fMl vkWM Zj dh f o'k s" krk ugh augh augh augh a  gS \ 
 

(1) ns[ ku s vkSj l quu s d h  l eL;k 

(2) l ke kftd  vUrfØ Z;k  e sa l eL;k 

(3) 'k kfC nd  vkSj v'k kfC nd  l Eiz s"k .k e s a   

l eL;k 

(4) vk oR ;k ZRed @ck jE ck j O ;o gkj 

  12. Which of the following option is not a 

characteristic of Autism Spectrum 

Disorder ? 

(1) Problem in vision and hearing 

(2) Problem in social interaction 

(3) Problem in verbal and nonverbal 

communication 

(4) Repetitive behaviour 

13. fd e us viuk eksckby uacj cnyd j u;k uacj 
fy;kA tc fdlh us ml dk u;k uacj iwNk rc 
og mlds flQZ rhu vad  gh ;kn dj ik;hA 
bld k dkj.k fuEukafdr esa ls gks ld rk gS % 
 

(1) {k j.k  

(2) iwo ZlfØ ; O;o /kk u 

(3) neu  

(4) i'pxeu 

  
13. Kim changed her mobile number; and 

got a new number. When some-one 

asked her new number she could recall 

only three digits of her new mobile 

number. The cause behind it may be : 

(1) Decay  

(2) Proactive Interference 

(3) Suppression  

(4) Regression 

14. fuEu kafd r e s a l s dkSu&l k dF ku o kbxksRLd h ds 
l e kt &lkaLÑ frd fl )kar d s l anHkZ esa l gh ugh augh augh augh a 
gS \ 

(1) cPps t ks d k;Z Lo ;a] fcuk  l gk;rk d s] 
iwjk d j ld rs gS a] mUgs a d jrs gq,  o s cgqr  
d e lh [k rs gSaA 

(2) f ud VLFk fo dkl  d k {ks=] bl  fl )k ar dk 
, d  Hkk x gSA 

(3) ;g cky d  d s l aKk ukRed  fod kl  es a Hkk "kk 
d s egÙo dh  mis{kk  d jrk  gSA 

(4) ;g l aKk uk Red  fod kl  esa l ekt  , oa 
l aLÑ fr d h Hkwfed k ij cy  nsrk gSA 

  
14. Which of the following is not true about 

the socio-cultural theory of Vygotsky ? 

(1) Children learn very little from 

performing tasks they can already 

do independently.  

(2) Concept of Zone of Proximal 

Development (ZPD) is a part of it. 

(3) It ignores the importance of 

language in cognitive development. 

(4) It emphasizes role of socio-cultural 

environment in cognitive 

development. 
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15. Cywe ds oxhZdj.k ds vuqlkj] fuEukafdr esa ls 
dkSu&lk laKkukRed {ks= dk ,d mi{ks= ughaughaughaugha gS \ 

(1) vu qiz;k sx  

(2) f o'y s" k.k 

(3) l a'ys"k .k  

(4) vu qfØ ;k 

  15. As classified by Bloom, which one of 

the following is not a subdomain of 

cognitive domain ? 

(1) Application 

(2) Analysis 

(3) Synthesis  

(4) Responding 

16. efLr"d ds izh&ÝaVy dkWVsZDl ds }kjk fuEukafdr 
esa ls dkSu&lk dk;Z fu;af=r ughaughaughaugha gksrk gS \ 

(1) 'k kjhf jd  if jpky u  

(2) f paru 

(3) l eL;k l e k/ kku  

(4) n`f" V , oa J o.k 

  16. Which of the following is not controlled 

by pre-frontal cortex of brain ? 

(1) Body Movement 

(2) Thinking 

(3) Problem solving  

(4) Vision & Hearing  

17. fd 'kksj ckyd ksa d s fnok Lo Iu d s l anHk Z esa 
fuEu kafd r e s a ls dk Su&l k d Fku l gh ugh augh augh augh a    
gS \ 

(1) ;g l fØ ; [ ksy dk  ,d  izd kj gSA  

(2) f no k LoI u d s nk Sjku fd 'kksj tks Hkwfedk 
Lo hd kj d jrs gS a og u k;d  dk gksrk gSA 

(3) bl e s a e kufl d  d s  ct k; 'kkjhf jd  fØ ;k 
T;knk gksrh gSA 

(4) bl e s a 'k kjhf jd  d s ct k; e kufld  fØ ;k 
T;knk gksrh gSA 

  17. Which of the following is not true about 

Day Dreaming among adolescents ? 

 

(1) It is a form of active play.  

(2) The roles adolescents adopt in day 

dreaming are heroic. 

(3) It involves more physical activity 

than mental.  

(4) It involves more mental activity 

than physical. 

18. , d  fd 'k ksj ;g egl wl  d jrk gS fd  vc rd  
ml d s tSl k xgjk I;k j fd l h u s ugha fd ;k gSA 
;g | ksrd  gS % 

(1) d kYifud n'k Zd  d k  

(2) O ;f Drx r feFk d  dk 

(3) vk Re&if jp ;@igp ku d k  

(4) igpk u l ad V d k 

  18. A teenager feels that no one has ever 

been as deeply in love as he is. It 

indicates : 

(1) Imaginary Audience  

(2) Personal fable 

(3) Self identity  

(4) Identity crisis 
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19. o kD;ka'k ^,d  gkFk e s a Ng , o a nwl js gkF k esa 
vk /kk  ntZu*  f uEu kaf d r e s a l s f dl  izdkj ds 
}a} d h  l oks ZÙke O;k[ ;k  gS \ 

(1) mikxe &  if jgk j }a} d h  

(2) ifjgkj &  if jgk j }a} d h 

(3) mikxe &  mikxe }a} d h 

(4) } ; m ik xe &  if jgk j }a } d h 

  19. The phrase, 'six on one hand, and half a 

dozen on other' best describes which of 

the following type of conflict ? 

(1) Approach - Avoidance conflict  

(2) Avoidance - Avoidance conflict 

(3) Approach - Approach conflict  

(4) Double Approach - Avoidance 

conflict 

20. cz kWuQ sucs zuj d s ^ikf jfLFk frdh; ra=* d s fl )kar 
d s vu ql kj fuEu kaf d r e s a l s d kSu& lk cky d ds 
^c`g r~ {ks=* e s a l ekfgr u ghau ghau ghau gha  gS \ 
 

(1) f o| ky ; (2) e wY; 

(3) d ku wu (4) jh fr fjo kt 

  
20. According to Ecological systems theory 

of Bronfenbrenner, which of the 

following does not belong to Macro 

system of the child ? 

(1) School (2) Values 

(3) Laws (4) Customs 

21. iqjLd kj d s l aca/k es a fuEu kafd r es a l s d kSu& lk 
d Fk u l gh  ughaughaughaugha  gS \ 

(1) ;g f j'or d k , d  izd kj gSA  

(2) ;g o kaNu h; O ;o gkj es a o `f) d jrk gSA 

(3) ;g , d  #fp d j míhid  gSA  

(4) ;g vu qfØ ;k  dk s n`< + d ju s d s f y,  fn;k 
t krk gSA 

  
21. Which of the following is not true about 

a reward ? 

(1) It is a type of bribe.  

(2) It increases desirable behaviour. 

(3) It is a pleasant stimulus.  

(4) It is given to strengthen the 

response. 

22. ^l tZu kRed rk d k fuo s'k  fl )kar* fn;k x;k    
gS % 

(1) f cu s ,o a lk beu }kjk 

(2) d Sjksy , oa dSV y  }kjk 

(3) LV u ZcxZ ,o a yqcVZ }kjk  

(4) o kV l u ,o a jsuj }k jk 

  
22. The 'investment theory of creativity' is 

given by : 

(1) Binet and Simons  

(2) Carrol and Cattle 

(3) Sternberg and Lubart  

(4) Watson and Ryner 
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23. ^^f od kl  d s bl  p j.k e s a cPps viuh  vk¡[ k] 
d k u]  gk Fk , oa vU ; l aosnh vaxks a d s }k jk 
fp aru d jrs gS aA**   

;g d Fku fuEu kaf d r es a l s fd l l aKk uk Red 
fo dkl  dh  voLFkk d h  l oksZÙke O;k[ ;k gS \ 

(1) l aosnh xked  vo LFkk  

(2) iwo Z l afØ ;k Red  voLFkk 

(3) e wrZ l afØ ;kR ed  vo LFk k  

(4) vk Sip kf jd  l afØ ;k Red vo LFkk 

  23. "At this stage of development, children 

think with their eyes, ears, hands and 

other sense organs."  

The above statement best describes 

which of the following stage of 

cognitive development ? 

(1) Sensori motor stage  

(2) Pre-operational stage 

(3) Concrete operational stage 

(4) Formal operational stage 

24. fuEu kafd r es a l s f dUgs a cky & v/;;u d k  
l aLF kkid  eku k tk rk  gS \ 

(1) vYÝ sM fcu s  

(2) f Fk;ksM ksj l k beu 

(3) t h0 LV suys gkWy  

(4) ch0 ,Q 0 fLd uj 

  24. Which of the following is the founder of 

Child Study Movement ? 

(1) Alfred Binet  

(2) Theodore Simon 

(3) G. Stanley Hall 

(4) B. F. Skinner 

25. fuEu kafd r e s a l s d kSu& l k fd 'k ksjko LFkk ds 
vifjiDo fp aru dk  mnkgj.k ugh augh augh augh a gS] t Sl k fd 
, yf dUM }kjk  crk;k x ;k  gS \ 

(1) vk n'k Zokn  

(2) o kn& fo okn d h izo `fÙk 

(3) l qfuf'prrk@v kxzfgrk   

(4) f of 'k" V rk d h izo `fÙk 

  25. Which of the following is not a form of 

immaturity of thinking during 

adolescence as proposed by Elkind ? 

(1) Idealism  

(2) Argumentativeness  

(3) Assertiveness  

(4) Specialness 

26. fuEu kafd r e s a l s dk Su&l h f'k{k .k O;wgjp uk 
yk sd rkaf =d  u ghau ghau ghau gha  gS \ 

(1) l eL;k l e k/ kku  

(2) ifj;kst uk 

(3) [ kk st  

(4) izn'kZu 

  26. Which of the following is not a 

democratic teaching strategy ? 

(1) Problem solving  

(2) Project 

(3) Discovery  

(4) Demonstration 
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27. Fk kWu ZM kbd  }kjk fn;s x;s ^ iz;kl  ,oa =qf V* 
fl )kar d k d kSu& lk  f u;e ^iqucZy u*  d h 
l ad Yiu k d s l erqY; gS \ 

(1) mi ;k sx d k  fu;e   

(2) vu qi;k sx d k  fu;e   

(3) izHkk o d k fu;e    

(4) rRij rk  ¼rS;kjh ½  d k f u;e  

  27. Which law of 'Trial and Error' given by 

Thorndike is similar to the concept of 

'reinforcement' ? 

(1) Law of Use  

(2) Law of Disuse 

(3) Law of Effect  

(4) Law of Readiness 

28. ^e kWMfyax*  , d izHkk oh  f'k{k.k ;qfDr gS % 
 

(1) n`f" V ckf /krk ;qDr cPp ks a d s fy ,   

(2) vf /kxe v{k erk ;qDr cPpk s a d s f y, 

(3) vEy h; vkØ e.k izHkk fo rks a d s fy ,  

(4) ckSf )d  v{kerk ;qDr cPp ks a d s fy , 

  28. 'Modelling' is an effective teaching 

method for : 

(1) Children with visual impairment  

(2) Children with learning disability 

(3) Acid Attack Victims  

(4) Children with intellectual disability 

29. mPp cqf) d k  f uE uf yf[k r e s a l s dkSu-lk 
l ad srd  l ok s ZÙke gS \ 

(1) cqf) ijh{k .k  esa 103 vad  iz kIr d juk  

(2) Le `fr l s dfo rk ikB d juk 

(3) mPp xz sM iz kI r d ju k 

(4) i`" Biks" k .k d s i'pk r~ l e ku xyrh  d k s u 
nksgjku k 

  29. Which of the following is best indicator 

of high intelligence ? 

(1) Scoring 103 on an IQ test 

(2) Reciting poem from memory 

(3) Earning high grades 

(4) Not making the same mistakes after 

receiving feedback 

30. , d  cPpk  Øksf /kr gksd j viu s l gikB h dks 
B hd  ml h izdk j e kjrk  gS tSl k ml s ml d s ? kj 
e s a ml s l tk nh tk rh  gSA ;g mnkgj.k gS %  

(1) f Ø ;k izl wr vu qca/ku d k 

(2) 'k kL= h; v uqca/ku d k 

(3) f ujh{ k.kk Red  vf/k xe d k  

(4) varnZ `f" V  vf/k xe dk 

  30. A child angrily hits a playmate in the 

same way that he has been punished at 

home. It is an example of : 

(1) Operant conditioning  

(2) Classical conditioning 

(3) Observational learning  

(4) Insightful learning 
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HkkxHkkxHkkxHkkx – II / PART – II 

Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½ / LANGUAGES (HINDI & ENGLISH) 

[ fgUnhfgUnhfgUnhfgUnh / HINDI ] 

funsZ'k %funsZ'k %funsZ'k %funsZ'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfprlcls mfprlcls mfprlcls mfpr fodYi pqfu,A 

31. okrZfud n`f"V ls v'kq)v'kq)v'kq)v'kq)  'kCn Nk¡fV, % 

(1) izkf.kek= 

(2) lEifdZr 

(3) vkfHktkR; 

(4) dkjZokbZ 

32. lfU/k dh nf̀"V ls vlaxrvlaxrvlaxrvlaxr  fodYi pqfu, % 

(1) rks; $ /kkj = rks;k/kkj 

(2) fo'o $ fe= = fo'okfe= 

(3) ewly $ /kkj = ewlyk/kkj 

(4) lR; $ uk'k = lR;kuk'k 

33. izR;; dh n`f"V ls vlaxrvlaxrvlaxrvlaxr     fodYi pqfu, % 

(1) fuiq.k $ ; = uSiq.; 

(2) bZ'oj $ ; = ,s'o;Z 

(3) Hkfxuh $ ; = Hkkfxus; 

(4) fof'k"V $ ; = oSf'k"V~; 

34. lekl dh ǹf"V ls dkSu&lk fodYi vlaxrvlaxrvlaxrvlaxr            

gS \ 

(1) iar }kjk iz.khr =  iar iz.khr 

(2) iou ls pyus okyh pDdh = iupDdh 

(3) og tks p{kq ls Jo.k djs = p{kqJok 

(4) lekpkj ds fy, i= = lekpkji= 

35. ,dopu ls cgqopu cus 'kCnksa esa vlaxrvlaxrvlaxrvlaxr dks 
Nk¡fV, % 

(1) Mkdqvksa 

(2) rjcqtksa 

(3) o/kq,¡ 

(4) Hkkyqvksa 

36. fdl fodYi esa ^vyqd~ rRiq#"k* lekl dk 

iz;ksx gqvk gS \ 

(1) euflt (2) fnfXot; 

(3) loZO;kIr (4) dwieaMwd 

37. ^dejs esa dksbZ g¡l jgk gS* & okD; esa iz;qDr 

loZuke gS % 

(1) fu'p;okpd (2) vfu'p;okpd 

(3) iz'uokpd (4) iq#"kokpd 

38. ^fo'ks"k.k inksa* ds fodkjd rÙo dkSu&dkSu&ls 

gSa \ 

(1) fyax vkSj opu 

(2) fyax] opu vkSj dkjd 

(3) fyax vkSj dkjd 

(4) dky] okP; ,oa iq#"k 
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39. fdl 'kCn esa ^o.kkZxe O;atu lfU/k* dk iz;ksx 

ughaughaughaugha gqvk gS \ 

(1) JhPNk;k 

(2) izPNUu 

(3) e`PNdfVd 

(4) ekr`PNk;k 

40. ^;g ckfydk Qwy ls Hkh dksey gS* & mDr 

okD; fo'ks"k.k dh n`f"V ls fdl voLFkk dk 

okpd gS \ 

(1) ewykoLFkk (2) mÙkjkoLFkk 

(3) mÙkekoLFkk (4) buesa ls dksbZ ugha 

41. fuEu esa ls fdl fodYi esa L=hfyax okpd 

'kCn gS \ 

(1) vk¡lw (2) Vslw 

(3) jrkyw (4) llqjky 

42. ^dj.kdkjd* ;qDr okD; pqfu, % 

(1) dkuksa lquh ckr lR; gksrh gSA 

(2) os flusek ns[kus x, gSaA 

(3) yfyrk xq#th ls dRFkd lh[krh gSA 

(4) bl lkglh Nk= us ,d cPps dks unh esa 

Mwcus ls cpk;kA 

43. o.kZ&fopkj dh n`f"V ls vlaxrvlaxrvlaxrvlaxr fodYi    
pqfu, % 

(1) ,d gh LFkku ls mPpfjr nks lo.kZ Lojksa 
ds ;ksx ls fufeZr Loj mRifÙk ds vk/kkj 
ij ^nh?kZ Loj* dgykrs gSa( tcfd 
fHkUu&fHkUu LFkkuksa ls mPpfjr nks 
fotkrh; Lojksa ds ;ksx ls fufeZr Loj 
^la;qDr Loj* dgykrs gSaA 

(2) vuqLokj O;atuksa dh izÑfr gS( tcfd 
vuqukfld Lojksa dh izÑfr gSA 

(3) ftu Lojksa ds mPpkj.k esa gok ukd ls 
ugha vfirq dsoy eq[k ls fudyrh gS 
mUgsa ^lkuqukfld* Loj dgk tkrk gS 
tcfd ftu Lojksa ds mPpkj.k esa ok;q 
eq[k ds lkFk&lkFk ukfldk ls Hkh fudyrh 
gS mUgsa ^fujuqukfld Loj* dgk tkrk gSA 

(4) fgUnh o.kZekyk esa 'k "k l g o.kZ la?k"khZ 
gSa tcfd p N t > vkfn o.kZ Li'kZ 
la?k"khZ gSaA 

44. ^gelQ ðð ððj vxj ,d&nwljs dks le> ysa rks 
thou vklku gks tk,xk* & mDr okD; fdl 
dky ls lacaf/kr gS \ 

(1) gsrqgsrqen~ Hkfo"; (2) laHkkO; Hkfo";r~ 

(3) lkekU; Hkfo";r~ (4) lafnX/k orZeku 

45. ^'kCndks'k* esa 'kCnkuqØe dh n`f"V ls fuEu esa 

ls lghlghlghlgh ¼vkjksgh½ Øe okyk fodYi gS % 

(1) fDy"V] Øe] Dykafr] {k.k 

(2) {k.k] Øe] Dykafr] fDy"V 

(3) Øe] Dykafr] fDy"V] {k.k 

(4) Dykafr] Øe] fDy"V] {k.k 
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[ vaxzsthvaxzsthvaxzsthvaxzsth / ENGLISH ] 

Direction : Answer the following questions by selecting the most appropriate option.    

46. Choose the word in which the prefix 

dis − is incorrectly used : 

(1) Disbelief  

(2) Disobedience 

(3) Discomfort  

(4) Discussion 

47. Complete the sentence using the correct 

option : 

George has travelled a lot. He ………… 

speak four languages. 

(1) may (2) can 

(3) need (4) must not 

48. Choose the correct option for the blank 

given : 

He found her blue ford escort in the car 

park. ………… vehicle was locked and 

the lights were off. 

(1) A (2) An 

(3) The (4) zero article 

49. They rested when evening came.  

The underlined group of words in the 

above sentence is a/an : 

(1) Adjective clause  

(2) Noun clause 

(3) Adverb clause  

(4) Conjunction clause 

50. Choose the word with the incorrect 

suffix 'ship' : 

(1) Friendship (2) Membership 

(3) Relationship (4) Argueship 

51. Which of the options given below is the 

correct indirect form of the given 

sentence ? 

He said, 'I have passed the examination'. 

(1) He said that he had passed the 

examination. 

(2) He told I have passed. 

(3) He said he must have passed the 

examination. 

(4) He informed us of his passing. 

52. Choose the correct synonym of the 

word 'contaminate' : 

(1) Defile (2) Rehabilitate 

(3) Detach (4) Valid 
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53. Choose the correct plural of the word 

'species' : 

(1) Specis 

(2) Species 

(3) Speceis  

(4) Specieses 

54. Choose the correct preposition for the 

blank given below : 

She had great affection …………. her 

grandchildren. 

(1) within (2) into 

(3) against (4) for 

55. The old man was tired of walking.  

The underlined word in the sentence is 

used as a : 

(1) Participle  

(2) Gerund 

(3) Noun  

(4) Adverb 

56. Choose the correct form of the verb : 

Gymnastics …………… my favourite 

sport. 

(1) is (2) are 

(3) were (4) do 

57. Choose the correct option of the 

underlined phrasal verb : 

We must cut down expenses or we will 

be getting into debt. 

(1) Reduce in size or amount  

(2) Appear 

(3) Expose  

(4) Rise to the surface 

58. Choose the correct form of the verb 

'play' from the options below : 

They ………….. (play) since four 

O'clock. 

(1) have played  

(2) will play 

(3) play  

(4) have been playing 

59. Choose the correct past tense and past 

participle of the verb 'Begin' : 

(1) Began, Begun  

(2) Begun, Begun 

(3) Begin, Began  

(4) Begun, Began 

60. Choose the correct synonym of the 

word 'Pinnacle' : 

(1) Peak (2) Pass 

(3) Foothills (4) Deep 
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HkkxHkkxHkkxHkkx – III / PART – III 

lkekU; v/;;ulkekU; v/;;ulkekU; v/;;ulkekU; v/;;u / GENERAL STUDIES 

[ ek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkkkkekU; Kku ,oa vfHkKkuekU; Kku ,oa vfHkKkuekU; Kku ,oa vfHkKkuekU; Kku ,oa vfHkKku / QUANTITATIVE 

APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ] 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfpr lcls mfpr lcls mfpr lcls mfpr fodYi pqfu,A 
Direction : Answer the following questions by selecting the most appropriate option.    

61. izR;sd la[;k 10, 12, 15 rFkk 18 ls iw.kZ 
foHkkftr gksus okyk U;wure iw.kZ oxZ gS % 
 

(1) 876 (2) 900 

(3) 981 (4) 1024 

  
61. The least perfect square number which 

is exactly divisible by :  

 10, 12, 15 and 18 

(1) 876 (2) 900 

(3) 981 (4) 1024 

62. C dk firk A gS vkSj D, B dk iq= gSA A 

dk HkkbZ E gSA vxj D dh cgu C gS] rks B 

vkSj E dk D;k lEcU/k gS \ 

(1) iq=h  

(2) lkyk 

(3) ifr  

(4) lkyh 

  
62. A is the father of C and D is the son of 

B. E is the brother of A. If C is the sister 

of D, how is B related to E ? 

(1) Daughter  

(2) Brother-in-law 

(3) Husband  

(4) Sister-in-law 

63. fdlh lkadsfrd Hkk"kk esa 'CERTAIN' dk dwV 
'kCn 'XVIGZRM', 'SEQUENCE' dk dwV 
'kCn 'HVJFVMXV' gks] rks 'MUNDANE' 

'kCn dk dwV gksxk % 

(1) NFMWZMX  

(2) NFMWMZX 

(3) NFMWZMV  

(4) NFWMZMV 

  

63. In a certain code, 'CERTAIN' is coded 

as 'XVIGZRM', 'SEQUENCE'  is coded 

as 'HVJFVMXV', then how would 

'MUNDANE' be coded ? 

(1) NFMWZMX  

(2) NFMWMZX 

(3) NFMWZMV  

(4) NFWMZMV 
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64. fuEu esa ls dkSu&lk 'kCn "DICTIONARY" 

ds v{kjksa dk iz;ksx djrs gq, ughaughaughaugha cuk;k tk 
ldrk gS \ 

(1) RATION  

(2) DAIRY 

(3) NATION  

(4) ACTION 

  
64. Which of the following words cannot 

be formed by using letters of word 

"DICTIONARY" ? 

(1) RATION  

(2) DAIRY 

(3) NATION  

(4) ACTION 

65. ;fn P, Q dk HkkbZ gS] R, P dk firk gS] S, T 

dk HkkbZ gS] T, Q dh csVh gS] rks S ds pkpk 
dkSu gSa \ 

(1) R (2) Q 

(3) T (4) P 

  
65. If P is brother of Q, R is father of P, S is 

brother of T. T is daughter of Q, then 

paternal uncle of S is : 

(1) R (2) Q 

(3) T (4) P 

66. "BRIGHTER" 'kCn ds v{kjksa ds fdrus ,sls 
;qXe gSa] ftuds chp mrus gh v{kj gSa ftrus 
fd vaxzsth o.kZekyk esa gksrs gSa \ 
 

(1) 4 (2) 2 

(3) 1 (4) 3 

  
66. How many pairs of the letters does the 

word "BRIGHTER" contain in such that 

the two letters of the pair have as many 

letters between them in the word as 

there are in the English alphabet ? 

(1) 4 (2) 2 

(3) 1 (4) 3 

67. ;fn 
5

4
=

y

x  gks] rks 








+

−
−

xy

xy

2

2

7

4  dk eku 

gS % 

(1) 
7

1
  

(2) 
7

3
 

(3) 
3

1
  

(4) 1 

  
67. If  

5

4
=

y

x
, then value of 









+

−
−

xy

xy

2

2

7

4
 

is : 

(1) 
7

1
  

(2) 
7

3
 

(3) 
3

1
  

(4) 1 
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68. ,d O;kikj esa] A o C ds fuos'k dk vuqikr 
2 : 1 gS tcfd A o B ds chp fuos'k dk 
vuqikr 3 : 2 gSA ;fn mudk dqy ykHk #i;s 
1,573 gks] rks B dks fdruk /ku feysxk \ 
 

(1) 363 #0  

(2) 484 #0 

(3) 605 #0  

(4) 726 #0 

  68. In a business, A and C invested amounts 

in the ratio 2 : 1, whereas the ratio 

between amounts invested by A and B 

was 3 : 2. If their total profit is Rs. 1,573. 

How much amount B will receive ? 

(1) Rs. 363  

(2) Rs. 484 

(3) Rs. 605  

(4) Rs. 726 

69. ,d vkneh vius iq= ls 14 o"kZ vk;q esa cM+k 
gS] nks o"kZ ckn] mldh vk;q vius iq= dh 
vk;q dh nqxquh gksxhA rks iq= dh orZeku vk;q 
D;k gS \ 

(1) 8 o"kZ  

(2) 10 o"kZ 

(3) 12 o"kZ  

(4) 14 o"kZ 

  69. A man is 14 years older than his son. 

After two years, his age will be twice 

the age of his son. The present age of 

his son is : 

(1) 8 years  

(2) 10 years 

(3) 12 years  

(4) 14 years 

70. Ükà[kyk esa =qfV iw.kZ la[;k Kkr dhft, % 

10, 12, 28, 90, 360, 1850 

(1) 12 (2) 28 

(3) 90 (4) 360 

  70. Find the wrong number in the series : 

10, 12, 28, 90, 360, 1850 

(1) 12 (2) 28 

(3) 90 (4) 360 

71. 28 vke ds isM+ksa] 42 lsc ds isM+ksa o 21 larjs 
ds isM+ksa dks iafDr ds vk/kkj ij bl izdkj ls 
yxk;k tkuk gS fd blesa izR;sd iafDr esa dsoy 
,d gh izdkj ds leku la[;k esa isM+ gksaA rks 
lHkh isM+kas dks yxkus ds fy, U;wure iafDr;ksa 
dh la[;k gksxh % 

(1) 9 (2) 10 

(3) 11 (4) 13 

  71. There are 28 mango trees, 42 apple trees 

and 21 orange trees have to be planted in 

rows such that each row contains the 

same number of trees of one variety 

only. The minimum number of rows in 

which the above trees may be planted is : 

(1) 9 (2) 10 

(3) 11 (4) 13 
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72. A dh pky B ls nqxquh rFkk B dh pky C ls 
frxquh gS] ;fn fdlh nwjh dks C, 54 feuV esa 
r; djrk gS] rks B fdrus le; esa r;     
djsxk \ 

(1) 9 feuV (2) 18 feuV 

(3) 12 feuV (4) 15 feuV 

  72. A is twice as fast as B and B is thrice as 

fast as C. If some distance is covered by 

C in 54 minutes, then in how much time 

will B cover ? 

(1) 9 minutes (2) 18 minutes 

(3) 12 minutes (4) 15 minutes 

73. ;fn vk;rkdkj IykWV dh yEckbZ ,oa pkSM+kbZ 
Øe'k% 50% rFkk 20% c<+kbZ tkrh gS] rks 
blds {ks=Qy esa fdrus xquk o`f) gksxh \ 
 

(1) 
3

1
 (2) 

3

2
 

(3) 
5

1
 (4) 

5

4  

  73. If the length and breadth of a 

rectangular plot be increased by 50% 

and 20% respectively, then how many 

times will its area be increased ? 

(1) 
3

1
 (2) 

3

2
 

(3) 
5

1
 (4) 

5

4
 

74. 10 yhVj nw/k esa 8% ikuh gS] blesa fdruk 
'kq) nw/k feyk;k tk, ftlls bl feJ.k esa 
ikuh 4% jg tk;s \ 

(1) 6 yhVj (2) 8 yhVj 

(3) 10 yhVj (4) 15 yhVj 

  74. 10 litres of milk contains 8% water. What 

quantity of pure milk should be added to 

this mixture to reduce this to 4% water ? 

(1) 6 litres (2) 8 litres 

(3) 10 litres (4) 15 litres 

75. ;fn 0cossin =− AA  gks] rks 
AA

44 cossin +  dk eku gksxk % 
(1) 0 (2) 1 

(3) 
2

1
 (4) 

4

3  

  75. If 0cossin =− AA , then the value  of 

AA
44 cossin +  is : 

(1) 0 (2) 1 

(3) 
2

1
 (4) 

4

3
 

76. ,d uko] fuf'pr nwjh dks vuqizokg esa 
2

1  

?k.Vs esa r; djrh gS tcfd mlh nwjh dks 

okilh esa 
2

1
1  ?k.Vs esa r; djrh gS ;fn unh 

5 fdeh izfr ?k.Vk dh xfr ls cgrh gS] rks 
fLFkj ikuh esa uko dh xfr Kkr dhft, % 

(1) 10 fdeh@?k.Vk (2) 12 fdeh@?k.Vk 

(3) 13 fdeh@?k.Vk (4) 15 fdeh@?k.Vk 

  76. A boat covers a certain distance 

downstream in 
2

1  hour, while it comes 

back in 
2

1
1  hours. If the speed of the 

stream be 5 kmph. What is the speed of 
the boat in still water ? 

(1) 10 kmph (2) 12 kmph 

(3) 13 kmph (4) 15 kmph 
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77. ;fn fdlh dksM Hkk"kk eas 'pit dar na' dk 

rkRi;Z ßrqe vPNs gksÞ] 'dar tok pa' dk 
rkRi;Z ßvPNk vkSj cqjkÞ 'tim na tok' dk 

rkRi;Z ßos cqjs gSaÞA mlh Hkk"kk eas ßosÞ ds fy, 

dkSu&lk 'kCn gS \ 

(1) tim (2) tok 

(3) na (4) pit 

  77. If in a code language 'pit dar na' means 

"you are good", 'dar tok pa' means 

"good and bad", 'tim na tok' means 

"they are bad". In the same language 

which word stands for "they" ? 

(1) tim (2) tok 

(3) na (4) pit 

78. ;fn ^nf{k.k&iwoZ* dks ^iwoZ*] mÙkj&if'pe dks 

^if'pe* ^nf{k.k&if'pe* dks ^nf{k.k* dgk 
tkrk gS rFkk blh izdkj vkxs Hkh jgrk gS] rks 
^mÙkj* dks D;k dgk tk,xk \ 

(1) nf{k.k (2) mÙkj&if'pe 

(3) mÙkj&iwoZ (4) mÙkj 

  
78. If 'South-East' is called 'East', North-

West is called 'West' 'South-West' is 

called 'South' and so on, what will 

'North' be called ? 

(1) South (2) North-West 

(3) North-East (4) North 

79. ,d rhu vadksa dh la[;k 4p3 esa 984 tksM+us 
ij ,d pkj vadksa dh la[;k 13q7 izkIr gksrh 
gSA ;fn 13q7, 11 ls HkkT; gS] rks (q – p) dk 
eku gksxk % 

(1) 8 (2) 9 

(3) 7 (4) 11 

  
79. A three digit number 4p3 is added to 

984 to get a four digit number 13q7. If 

13q7 is divisible by 11, then the value 

of (q – p) will be : 

(1) 8 (2) 9 

(3) 7 (4) 11   

80. fn, x, lehdj.k dks larqfyr djus rFkk '*' 

fpUgksa ds izfrLFkkiu ds fy, xf.krh; fpUgksa dk 
lgh Øe lewg pqfu, %  

 9 * 7 * 2 * 3 * 10 

(1) × ÷ + = (2) – + × = 

(3) + – × = (4) × + = – 

  
80. Select the correct combination of 

mathematical signs to replace '*' signs 

and to balance the given equation : 

 9 * 7 * 2 * 3 * 10 

(1) × ÷ + = (2) – + × = 

(3) + – × = (4) × + = – 
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81. f[kykM+h] ftlus 2018 ds ,f'k;kbZ [ksyksa esa 
Lo.kZ ind thrk % 

(1) usgk xks;y 

(2) ctjax iwfu;k 

(3) fodkl Ñ".k ;kno 

(4) lhek iwfu;k 

  81. The player who won the Gold medal in 

the Asian Games-2018 : 

(1) Neha Goyal  

(2) Bajrang Punia 

(3) Vikas Krishan Yadav 

(4) Seema Poonia 

82. fuEufyf[kr esa ls dkSu&lh ufndk lkfgch esa 
lekfgr ughaughaughaugha  gksrh gS \ 
(1) nksgu (2) dlkoVh 

(3) bUnkSjh (4) n`'k}rh    

  82. Which of the following rivulets does 

not converge into Sahibi ? 

(1) Dohan (2) Kasavati 

(3) Indori (4) Drishadvati 

83. {ks= ftlesa duZy tsjkMZ us 1857 ds Økafrdkfj;ksa 
ds fo#) vkØe.k dk usr̀Ro  fd;k % 
 

(1) ikuhir (2) jksgrd 

(3) esokr (4) ukjukSy 

  83. The region in which Colonel Gerrard 

led the counter attack against 1857 

revolutionaries : 

(1) Panipat (2) Rohtak 

(3) Mewat (4) Narnaul 

84. tux.kuk&2011 ds vk/kkj ij gfj;k.kk dh 
iq#"k lk{kjrk nj gS % 

(1) 75.6% (2) 65.9% 

(3) 84.1% (4) 71.4% 

  84. The male literacy rate of Haryana as per 

the census-2011 is : 

(1) 75.6% (2) 65.9% 

(3) 84.1% (4) 71.4% 

85. fuEufyf[kr esa ls fdu jkT;ksa ds lkFk ^^dyslj 
jk"Vªh; ikdZ** viuh lhek lk>k djrk gS \ 
 

(i) fgekpy izns'k 

(ii) mÙkjk[k.M 

(iii) jktLFkku 

(iv) iatkc 

lghlghlghlgh  mÙkj pqfu, % 
(1) (i) rFkk (iv) (2) (i) rFkk (ii) 

(3) (iii) rFkk (iv) (4) dsoy (iv) 

  85. With which of the following states, the 

"Kalesar National Park" shares its 

boundary ? 

(i) Himachal Pradesh 

(ii) Uttrakhand 

(iii) Rajasthan 

(iv) Punjab 

Choose the correct answer : 

(1) (i) & (iv) (2) (i) & (ii) 

(3) (iii) & (iv) (4) Only (iv) 
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86. ia0 usdhjke 'kekZ ds ckjs esa fuEufyf[kr esa ls 

dkSu&lk dFku vlR;vlR;vlR;vlR;  gS \ 

(1) ia0 usdhjke 'kekZ us fryd ds gkse:y 
vkanksyu esa egÙoiw.kZ Hkwfedk fuHkkbZA 

(2) vlg;ksx vkanksyu ds nkSjku mUgksaus 
fHkokuh esa xka/khth dh ,d tulHkk dk 
vk;kstu fd;k FkkA 

(3) mUgksaus fHkokuh ls ,d lkIrkfgd ^lans'k* 
izdkf'kr fd;kA 

(4) 1952 ls 1956 rd oks jkT; lHkk ds 

lnL; jgsA 

  86. Which of the following statements 

about Pt. Neki Ram Sharma is not true ? 

(1) Pt. Neki Ram Sharma played a vital 

role in the Home Rule Movement 

of Lokmanya Tilak.  

(2) He organized a public meeting of 

Gandhiji at Bhiwani during Non-

cooperation Movement. 

(3) He published a Hindi Weekly 

'Sandesh' from Bhiwani. 

(4) He was a Rajya Sabha Member 

from 1952 to 1956. 

87. ^eq[;ea=h fookg 'kxqu ;kstuk* ds ckjs esa 
fuEufyf[kr dFkuksa ij fopkj dhft, % 

(a) ,d fo/kok dh iq=h ds fookg gsrq 
51,000 #i;s dk vuqnku fn;k tkrk   
gSA 

(b) ,slh fo/kok efgyk dh okf"kZd vk; ,d 
yk[k #i;s ls de gksuh pkfg,A 

mi;qZDr esa ls dkSu&lk dFku lghlghlghlgh  gS@gSa \ 

(1) dsoy (a) lgh gSA 

(2) dsoy (b) lgh gSA 

(3) u rks (a) vkSj u gh (b) lgh gSA  

(4) (a) rFkk (b) nksuksa lgh gSaA  

  87. Consider the following statements about 

the 'Mukhya Mantri Vivah Shagun 

Yojana' : 

(a) For the marriage of the daughter of 

a widow a grant of Rs. 51,000 is 

provided. 

(b) The income of such widow lady 

must be less than one lac per annum. 

Which of the above statements is/are 

correct ? 

(1) Only (a) is correct.  

(2) Only (b) is correct. 

(3) Neither (a) nor (b) is correct. 

(4) Both (a) and (b) are correct. 

88. fuEufyf[kr esa ls dkSu&lh Qly ^HkkokUrj 
Hkjik;h ;kstuk* ds vUrxZr lfEefyr ughaughaughaugha  gS \ 
 

(1) xUuk (2) vkyw 

(3) VekVj (4) I;kt 

  88. Which of the following crops does not 

cover under the 'Bhavantar Bharpayee 

Yojana' ? 

(1) Sugarcane (2) Potato 

(3) Tomato (4) Onion 
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89. fuEufyf[kr esa ls dkSu&lk fpf=r /kwlj 
e`n~HkkaM ¼ih0 th0 MCY;w0½ LFky gS \ 

(1) cukoyh  

(2) ckyw 

(3) Hkxokuiqjk  

(4) fHkjkuk 

  
89. Which of the following is a Painted 

Grey Ware (PGW) site ? 

(1) Banawali   

(2)  Balu 

(3) Bhagawanpura 

(4)  Bhirrana 

90. fuEufyf[kr dks lqesfyr dhft, % 

dsUnzdsUnzdsUnzdsUnz    ftykftykftykftyk    

A. lsaVj vkWQ ,fDlysal 
QkWj osftVscy 

(i) dq#{ks= 

B. lsaVj vkWQ ,fDlysal 
QkWj ¶ykWolZ 

(ii) fljlk 

C. lsaVj vkWQ ,fDlysal 
QkWj ÝwV~l 

(iii) >T>j 

D. bafVxzsVsM ch&dhfiax 
MsoyiesaV lsaVj 

(iv) djuky 

lghlghlghlgh  dwV pqfu, % 

 A B C D 

(1) (i) (ii) (iii) (iv) 

(2) (i) (iii) (ii) (iv) 

(3) (iv) (ii) (iii) (i) 

(4) (iv) (iii) (ii) (i) 

  
90. Match the following : 

Center District 

A. Center of Excellence 

for Vegetable 

  (i) Kurukshetra 

B. Center of Excellence 

for Flowers 

  (ii) Sirsa 

C. Center of Excellence 

for Fruits 

  (iii) Jhajjar 

D. Integrated Bee-keeping 

Development Center 

  (iv) Karnal 

Choose the correct code : 

 A B C D 

(1) (i) (ii) (iii) (iv) 

(2) (i) (iii) (ii) (iv) 

(3) (iv) (ii) (iii) (i) 

(4) (iv) (iii) (ii) (i) 
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HkkxHkkxHkkxHkkx – IV / PART – IV    
HkkSfrd foKkuHkkSfrd foKkuHkkSfrd foKkuHkkSfrd foKku / PHYSICS 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfpr lcls mfpr lcls mfpr lcls mfpr fodYi pqfu,A 
Direction : Answer the following questions by selecting the most appropriate option.    

91. Ge ls cus ,d p-n laf/k Mk;ksM ds fy,  
300 K ij mRØe lar`fIr /kkjk 5 µA gSA laf/k 
ij ç;qDr oksYVrk] rkfd 50 mA dh vxz/kkjk 
çkIr gks lds] gS % 

¼cksYV~teku fu;rkad k = 1.38 × 2310−  J/K½ 

(1) 0.238 V  

(2) 0.59 V 

(3) 1.76 V  

(4) 0.476 V 

  91. The reverse saturation current at 300 K 
of a p-n junction Ge diode is 5 µA. The 
voltage to be applied across the diode to 
obtain a forward current of 50 mA, is :  

(Boltzmann constant k = 1.38 × 2310−  
J/K) 

(1) 0.238 V  

(2) 0.59 V 

(3) 1.76 V  

(4) 0.476 V 

92. ,d jkdsV dh xfr esa HkkSfrd jkf'k tks lajf{kr 
jgrh gS] gS % 

(1) cy 

(2) dk;Z 

(3) js[kh; laosx 

(4) dks.kh; laosx 

  
92. In the motion of a Rocket, physical 

quantity which is conserved is : 

(1) Force 

(2) Work 

(3) Linear momentum 

(4) Angular momentum 

93. ,d ifjukfydk ftldk çsjdRo 50 mH rFkk 
çfrjks/k 10Ω gS] dks 6V dh ,d cSVjh ij 
tksM+k tkrk gSA blesa /kkjk dks blds LFkk;h 
voLFkk eku ds vk/ks eku rd igq¡pus esa yxk 
le; gS % 

(1) 3.5 ms  

(2) 0.693 ms 

(3) 1.39 ms  

(4) 5 ms 

  
93. A solenoid of inductance 50 mH and 

resistance 10Ω is connected to a battery 

of 6V. The time elapsed before the 

current reaches to half of its steady state 

value is : 

(1) 3.5 ms  

(2) 0.693 ms 

(3) 1.39 ms  

(4) 5 ms 
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94. ,d lkSj iSuy dk vkeki ¼lkbt½ 80 cm × 

50 cm gSA lh/ks lw;Z çdk'k esa iSuy 15 V ij 
3.2 A çnku djrk gSA ;fn lw;Z çdk'k dh 
rhozrk 1000 W/ 2m  gS] rc lkSj ÅtkZ dks 
fo|qr~ ÅtkZ esa :ikUrfjr djus ds fy, iSuy 
dh n{krk gS % 

(1) 24% (2) 18% 

(3) 12% (4) 6.0% 

  94. A solar panel measures 80 cm × 50 cm. 

In direct sunlight the panel delivers     

3.2 A at 15 V. If the intensity of sunlight 

is 1000 W/ 2m , then the efficiency of 

the solar panel in converting solar 

energy into electrical energy is : 

(1) 24% (2) 18% 

(3) 12% (4) 6.0% 

95. L yackbZ dh ,d NM+ dk jSf[kd æO;eku ?kuRo 
λ, blds ,d fljs (x = 0) ij 0λ  eku ls 
nwljs fljs (x = L) ij nqxus eku 02λ=λ  
rd jSf[kdr% cnyrk gSA NM+ ds æO;eku dsUæ 
dh NM+ ds fljs (x = 0) ds lkis{k vofLFkfr  
gS % 

(1) 
2

L
x =   

(2) Lx
9

5
=  

(3) Lx
3

2
=   

(4) Lx
4

3
=  

  
95. The linear mass density λ of a rod of 

length L varies linearly from a value 0λ  
at one end (x = 0) to double the value 

02λ=λ at other end (x = L). The 

location of its centre of mass with 

respect to the end at (x = 0) is : 

(1) 
2

L
x =   

(2) Lx
9

5
=  

(3) Lx
3

2
=  

(4) Lx
4

3
=  

96. ,d òksr ds fy, dyk lac)rk le; s10 8−  

gSA ;fn fuokZr rjaxnS?;Z 0λ = 650 nm gS] rks 

js[kk pkSM+kbZ gS % 

(1) nm1041.1|| 4
0

−
×=λ∆  

(2) nm10755.0|| 4
0

−
×=λ∆  

(3) nm82.2|| 0 =λ∆  

(4) nm41.1|| 0 =λ∆  

  96. The coherence time of a source is 

s10 8− . If the vacuum wavelength is 

0λ = 650 nm, then line width is : 

(1) nm1041.1|| 4
0

−
×=λ∆  

(2) nm10755.0|| 4
0

−
×=λ∆  

(3) nm82.2|| 0 =λ∆  

(4) nm41.1|| 0 =λ∆  
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97. r f=T;k dh ,d /kkfRod lqbZ i`"B ruko S ds 

,d æo esa rSjrh gSA lqbZ dk vf/kdre ?kuRo 

rkfd ;g Mwc ugha lds] gS % 

 

(1) 
gr

S

2max
π

=ρ   

(2) 
gr

S

2max
2

π

=ρ  

(3) 
gr

S

2max
4

π

=ρ   

(4) maxρ Kkr ugha fd;k tk ldrk D;ksafd 

ç'u esa lqbZ dh yEckbZ ugha nh xbZ gS 

  97. A metallic needle of radius r floats in a 

liquid of surface tension S. The 

maximum density of needle so that it 

may not sink, is : 

(1) 
gr

S

2max
π

=ρ   

(2) 
gr

S

2max
2

π

=ρ  

(3) 
gr

S

2max
4

π

=ρ   

(4) maxρ cannot be determined as the 

length of needle is not given in 

question 

98. ,d mHk;fu"B vk/kkj VªkaftLVj ço/kZd esa 

fuxZr oksYVrk rFkk fuos'kh oksYVrk esa dykUrj 

gksrk gS % 

(1) 'kwU;  

(2) 90° 

(3) 180°  

(4) 270° 

  98. In a common base transistor amplifier, 

the phase difference between output 

voltage and input voltage is : 

(1) zero  

(2) 90° 

(3) 180°  

(4) 270° 
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99. fdlh /kkfRod rkj dk çfrjks/k R = V/I ls 

fn;k tkrk gS tgk¡ V foHkokUrj rFkk I /kkjk 

gSA ;fn ,d ifjiFk esa rkj ij foHkokUrj          

V = (8 ± 0.5) oksYV rFkk rkj esa /kkjk            

I = (2 ± 0.2)A gS] rks vf/kdre çfr'kr =qfV 

ds lkFk rkj ds çfrjks/k dk eku gS % 

 

(1) R = 4 ± 10% 

(2) R = 4 ± 16.25% 

(3) R = 4 ± 4.75%  

(4) R = 4 ± 12% 

  99. The resistance of a metallic wire is 

given by R = V/I where V is potential 

difference and I is the current. If in a 

circuit the potential difference across 

the wire is V = (8 ± 0.5) volt and 

current in wire I = (2 ± 0.2)A, the value 

of resistance of wire with its maximum 

percentage error is : 

(1) R = 4 ± 10% 

(2) R = 4 ± 16.25% 

(3) R = 4 ± 4.75%  

(4) R = 4 ± 12% 

100. 100 gm æO;eku] ,d fLçax ls yVdk;k tkrk 

gS tks fLçax dks 2.0 cm [khap ysrk gSA fLçax 

dk foJkfUrdky 1 lsd.M gSA voeafnr nksyd 

dk vkorZdky gksxk ¼lsd.M esa½ % 

 

(1) 0.28  

(2) 0.56 

(3) 3.14  

(4) 6.28 

  
100. A mass of 100 gm is hang with a spring, 

that stretch the spring by 2.0 cm. The 

relaxation time of spring is 1 sec. The 

time period of damped oscillator will be 

(in second) : 

(1) 0.28  

(2) 0.56 

(3) 3.14  

(4) 6.28 
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101. ,d Å"ek batu 0.5 dh n{krk ls çpkfyr 

gksrk gSA ;fn CT  rFkk HT  Øe'k% blds 
U;wu rki ,oa mPp rki HkaMkjksa ds rki 
fu:fir djrs gSa] rks HT  o CT  ds fy, 

uhps fn, x, leqPp;ksa esa ls dkSu-lk bl 
batu ds fy, laHko ughaughaughaugha  gS \ 

(1) HT  = 600 K   CT  = 200 K 

(2) HT  = 500 K   CT  = 200 K 

(3) HT  = 500 K   CT  = 300 K 

(4) HT  = 600 K   CT  = 300 K 

  
101. An heat engine operates with an 

efficiency of 0.5. If CT  and HT  
represents the temperature of its cold 

and hot reservoirs respectively, then 

which of the following sets for HT  and 

CT  is not possible for this engine ? 

(1) HT  = 600 K   CT  = 200 K 

(2) HT  = 500 K   CT  = 200 K 

(3) HT  = 500 K   CT  = 300 K 

(4) HT  = 600 K   CT  = 300 K 

102. ,d fi.M }kjk r; dh xbZ nwjh] fy;s x;s 
le; ds oxZ ds lekuqikrh gS] bldk Roj.k % 

 

(1) c<+sxk  

(2) ?kVsxk 

(3) fu;r jgsxk  

(4) 'kwU; gks tk;sxk 

  
102. The distance travelled by a body is 

directly proportional to the square of the 

time taken. Its acceleration : 

(1) increases 

(2) decreases 

(3) remain constant 

(4) becomes zero 

103. fdlh ljy vkorZ nksfy= ds fpjlEer 

lhekvksa ds vUnj ik;s tkus dh çkf;drk dk 

eku ¼tcfd og ewy voLFkk esa gS½ gS % 

 

(1) 92% (2) 84% 

(3) 42% (4) 16% 

  103. The value of probability of finding a 

Simple Harmonic Oscillator under its 

classical limit, (when it is in ground 

state) is : 

(1) 92% (2) 84% 

(3) 42% (4) 16% 
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104. ,d iRFkj fdlh Å¡ph ehukj ls fxjk;k tkrk 

gS rFkk xq#Ro ds vUrxZr eqDr :i ls fxjrk 

gSA iRFkj ds fxjus ds nkSjku fuEufyf[kr esa ls 

dkSu-lk dFku lR;lR;lR;lR;  gS \ 
 

(1) ;g çR;sd lsd.M esa laosx dh leku 

ek=k çkIr djsxk 

(2) ;g çR;sd lsd.M esa xfrt ÅtkZ dh 

leku ek=k çkIr djsxk 

(3) ;g fxjus ds çR;sd ehVj esa pky dh 

leku ek=k çkIr djsxk 

 

(4) ;g fxjus ds çR;sd ehVj esa laosx dh 

leku ek=k çkIr djsxk 

  104. A stone is dropped from a high tower 

and falls freely under the influence of 

gravity. Which one of the following 

statements is true concerning the stone 

as it falls ? 

(1) It will gain an equal amount of 

momentum during each second 

(2) It will gain an equal amount of 

kinetic energy during each second 

(3) It will gain an equal amount of 

speed for each meter through which 

it falls 

(4) It will gain an equal amount of 

momentum for each meter through 

which it falls 

105. 100 kg dk ,d jkdsV Å/okZ/kj ç{ksi.k gsrq 

rS;kj gSA ;fn fu"dklu osx 750 m/s gS rFkk 

b±/ku 2 kg/s dh nj ls [kir gks jgk gS] rks 

ç{ksi.k ds 10 s ckn jkdsV dk Roj.k gS % 

(g = 10 m/ 2s  ysa) 

(1) 5 m/ 2s  Åij dh vksj 

(2) 8.75 m/ 2s  Åij dh vksj 

(3) 10 m/ 2s  Åij dh vksj 

(4) 10 m/ 2s  uhps dh vksj 

  
105. A 100 kg rocket is set for vertical firing. 

If exhaust velocity is 750 m/s and fuel 

is consumed at the rate of 2 kg/s; the 

acceleration of rocket after 10 s from 

projection is :            (take g = 10 m/ 2s ) 

(1) 5 m/ 2s  upwards 

(2) 8.75 m/ 2s  upwards 

(3) 10 m/ 2s  upwards 

(4) 10 m/ 2s  downwards 
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106. vkos'k e rFkk æO;eku m ds ,d vkosf'kr 
d.k }kjk fdlh fo|qr~-pqacdh; rjax ds 
çdh.kZu dks ^FkkWelu vuqçLFk dkV* Tσ  ds 
inksa esa O;Dr fd;k tkrk gS ftldh foek 

{ks=Qy dh gSA foeh; fo'ys"k.k ds vk/kkj ij 

Tσ  ds fy, laHko lw= gS % 
¼ladsrksa dk lkekU; vFkZ gS½ 

(1) 

2
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
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  106. The scattering of an electromagnetic 

wave by a charged particle of charge e 
and mass m is described in terms of the 

'Thomson Cross Section' Tσ , which has 

the dimensions of area. On the basis of 

dimensional analysis, the possible 

formula for Tσ  is :  

(The symbols have the usual meanings)  

(1) 

2

2
0

2

mc43

8














∈π

π
=σ

e
T  

(2) 














∈π

π
=σ

3
0

2

mc43

8 e
T  

(3) 














∈π

µπ
=σ

0

2
0

m43

8 e
T  

(4) 














∈π

π
=σ

3
0

2

mc43

8 he
T  

107. og vf/kdre foHko ftl rd dksbZ /kkfRod 

xsan ¼dk;ZQyu 0φ ½ tks vU; oLrqvksa ls dkQh 
nwj gS vkosf'kr dh tk ldrh gS tc bls λ 

rjaxnS?;Z ds fo|qr~-pqacdh; fofdj.kksa }kjk 
vkyksfdr fd;k tkrk gS] gksxh ¼ladsrksa dk 
lkekU; vFkZ gS rFkk λ nsgyh rjaxnS?;Z ls 

de gS½ % 

(1) 
ee

c
V 0

max
2 φ

+

λ

π
=

h
 

(2) 
ee

c
V 0

max
2 φ

−

λ

π
=

h
 

(3) 
ee

c
V 0

max
22 φ

+

λ

π
=

h
 

(4) 
ee

c
V 0

max
4 φ

−

λ

π
=

h  

  
107. The maximum potential to which a 

metal ball (of work function 0φ ) remote 

from all other bodies be charged when 

irradiated by electromagnetic radiations 

of wavelength λ, will be (symbols have 

usual meanings, and λ is less than the 

threshold wavelength) : 

(1) 
ee

c
V 0

max
2 φ

+

λ

π
=

h
 

(2) 
ee

c
V 0

max
2 φ

−

λ

π
=

h
 

(3) 
ee

c
V 0

max
22 φ

+

λ

π
=

h
 

(4) 
ee

c
V 0

max
4 φ

−

λ

π
=

h
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108. 120 kg dh ydM+h ¼?kuRo 600 kg/ 3m ½ dh 
,d Mksaxh ikuh esa rSjrh gSA Mksaxh ij fdruk 
Hkkj j[kk tk ldrk gS rkfd ;g cl ikuh esa 
Mwcrh gh gks \ 

(1) 60 kg (2) 40 kg 

(3) 100 kg (4) 80 kg  

  
108. A raft of wood (density 600 kg/ 3m ) 

120 kg floats in water. How much 

weight can be put on the raft to make it 

just sink ? 

(1) 60 kg (2) 40 kg 

(3) 100 kg (4) 80 kg 

109. {kSfrt ls fdlh dks.k ij Qsads x, ,d ç{ksI; 
ds fy, {kSfrt ijkl R rFkk vf/kdre Å¡pkbZ 
H gSA bldh çkjafHkd pky dk O;atd gS %  

¼ok;q ?k"kZ.k dh mis{kk djsa½ 
(1) RHgu 2=   

(2) 
H

gR
u

4

2

=  

(3) 
H

gR
gHu

8
2

2

+=   

(4) 
H

gR
gHu

4
2

2

+=  

  109. A projectile thrown at some angle with 

horizontal has horizontal range R and 

maximum height H. The expression for 

its initial speed is : (neglect air friction) 
(1) RHgu 2=   

(2) 
H

gR
u

4

2

=  

(3) 
H

gR
gHu

8
2

2

+=   

(4) 
H

gR
gHu

4
2

2

+=  

110. ,d bysDVªkWu ftldh ÅtkZ] QehZ ÅtkZ ds leku 
gS] ls lEc) rjaxnS?;Z nh tkrh gS % 
 

(1) 
3/1








 π

n3
  (2) 

3/1
2








 π

n3
 

(3) 
3/1

4







 π

n3
 (4) 

3/1
8








 π

n3
 

  
110. The wavelength associated with an 

electron having an energy equal to the 

Fermi energy is given by : 

(1) 
3/1








 π

n3
  (2) 

3/1
2








 π

n3
 

(3) 
3/1

4







 π

n3
 (4) 

3/1
8








 π

n3
 

111. m æO;eku dk ,d [kkyh IykfLVd ckWDl ikuh 
ds Hkhrj xgjkbZ ij j[ks tkus ij g/6 dh nj 
ls Åij Rofjr gksuk ik;k tkrk gSA ckWDl esa 
Hkjs tkus okyh jsr dk æO;eku D;k gksuk 
pkfg, rkfd ;g g/6 dh nj ls uhps Rofjr gks 
lds \ 

(1) 2/5 m (2) m 

(3) 3/5 m (4) m/2 

  
111. An empty plastic box of mass m is 

found to accelerate up at the rate of g/6 
when placed deep inside water. How 

much mass of sand should be put inside 

the box so that it may accelerate down 
at the rate of g/6 ? 

(1) 2/5 m (2) m 

(3) 3/5 m (4) m/2 
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112. ljy vkorZ xfr dj jgs ,d d.k dk 

vkorZdky 8 s gSA t = 0 ij ;g viuh 

e/;koLFkk esa gSA d.k }kjk çFke lsd.M rFkk 

f}rh; lsd.M esa r; dh xbZ nwfj;ksa dk 

vuqikr gS % 

(1) 
12

1

−

 (2) 
2

12 −  

(3) 
2

1  (4) ( )12 −  

  112. The time period for a particle executing 

simple harmonic motion is 8 s. At t = 0 

it is at mean position. The ratio of 

distances covered by the particle in first 

second and second second will be :  

(1) 
12

1

−

 (2) 
2

12 −  

(3) 
2

1  (4) ( )12 −  

113. m æO;eku dk ,d Vªd fojkekoLFkk ls çkjaHk 

gksrk gS rkfd bldk osx fu;e sav =  ds 

vuqlkj ifjofrZr gksrk gS tgk¡ a ,d fu;rkad 

gS rFkk s Vªd }kjk r; dh xbZ nwjh gSA Vªd 

ij dk;Zdkjh leLr cyksa ds }kjk xfr çkjaHk 

gksus ds ckn çFke t lsd.Mksa esa fd;k x;k dqy 

dk;Z gS % 

(1) 
8

24
tma

W =   

(2) 
4

24
tma

W =  

(3) 24
tmaW =  

(4) W ifjdfyr ugha fd;k tk ldrk D;ksafd 

ç'u esa Vªd ij dk;Zdkjh cyksa ds ckjs esa 

tkudkjh ugha nh xbZ gS  

  
113. A truck of mass m starts moving from 

rest so that its velocity varies according 

to the law sav =  where a is a 

constant and s is the distance  covered. 

The total work performed by all forces 

acting on the truck during the first t 

seconds after the beginning of motion is : 

(1) 
8

24
tma

W =   

(2) 
4

24
tma

W =  

(3) 24
tmaW =  

 (4) W cannot be computed as details of 

forces are not being provided in the 

question 
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114. ,d dkYifud ifjfLFkfr ij fopkj dhft, 

ftlesa vkos'k lEiw.kZ lef"V esa ,dleku 

forfjr gSA ;fn Hkqtk a ds ,d dkYifud ?ku 

dh lrg ls ikfjr usV ¶yDl φ gS] rks f=T;k 

a ds ,d dkYifud xksys dh lrg ls ikfjr 

¶yDl gksxk % 

 

(1) φ  

(2) 
3

4π
φ 

(3) 
3

4
φ 

(4) 
π4

3
φ 

  
114. Consider a hypothetical situation in 

which charge is uniformly distributed in 

whole space. If the net flux passing 

through the surface of an imaginary 

cube of side a is φ, then flux passing 

through the surface of an imaginary 

sphere of radius a will be :  

(1) φ  

(2) 
3

4π
φ 

(3) 
3

4
φ 

(4) 
π4

3
φ 

115. ,d vk;ke ekMqfyr rjax ftlds fy, 

vf/kdre vk;ke 'a' rFkk U;wure vk;ke 'b' 

gS] ekMqfyr lwpdkad ¼ekMqys'ku baMsDl½ gksxk % 

 

(1) 
ba

ba

−

+   

(2) 
ba

ba

+

−  

(3) 
ba

a

+

  

(4) 
ba

a

−

 

  
115. For an amplitude modulated wave for 

which the maximum amplitude is 'a' 

while the minimum amplitude is 'b', the 

modulation index will be : 

(1) 
ba

ba

−

+   

(2) 
ba

ba

+

−  

(3) 
ba

a

+

  

(4) 
ba

a

−
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116. ,d oLrq xy ry esa py jgh gS bldh fLFkfr 
le; ds Qyu ds :i esa jtyitxr ˆ)(ˆ)( +=

→

 

}kjk nh tkrh gSA fcUnq O, 0=

→

r  ij gSA 
oLrq fu'p; gh O dh vksj vk jgh gksxh]   

tc % 

(1) 0,0 >> yx vv  

(2) 0,0 << yx vv  

(3) 0<+ yx yvxv   

(4) 0>+ yx yvxv   

  116. An object is moving in xy plane with 

the position as a function of time given 

by jtyitxr ˆ)(ˆ)( +=

→  Point O is at 0=

→

r . 

The object is definitely moving toward 

O, when : 

(1) 0,0 >> yx vv  

(2) 0,0 << yx vv  

(3) 0<+ yx yvxv   

(4) 0>+ yx yvxv   

117. ( )∫ ∫ ∫ ++

V

dzdydxzyx 222 dk eku 

gksxk % 

¼;gk¡ V ,d xksyk gS ftldk dsUæ ewy fcUnq 
ij gS rFkk f=T;k 'a' gS½ 

(1) 5

5

2
aπ  (2) 5

5

4
aπ  

(3) 3

5

2
aπ  (4) 3

5

4
a  

  
117. The value of ( )∫ ∫ ∫ ++

V

dzdydxzyx 222  

will be : 

(Here V is a sphere whose centre is at 

origin and 'a' is radius) 

(1) 5

5

2
aπ  (2) 5

5

4
aπ  

(3) 3

5

2
aπ  (4) 3

5

4
a  

118. nks dq.Mfy;k¡ ijLij fudV j[kh gSaA dq.Mfy;ksa 
ds ;qXe dk vU;ksU; çsjdRo fuHkZj djrk gS % 

 

(1) nksuksa dq.Mfy;ksa esa /kkjkvksa ij  

(2) nksuksa dq.Mfy;ksa esa /kkjk ifjorZu dh nj 

ij 

(3) dq.Mfy;ksa ds rkj ds inkFkk±s ij 

(4) nksuksa dq.Mfy;ksa dh lkisf{kd fLFkfr ,oa 

vfHkfoU;kl ij 

  118. Two coils are placed close to each 

other. The mutual inductance of the pair 

of coils depends upon : 

(1) currents in two coils  

(2) the rate at which currents are 

changing in the two coils 

(3) the materials of wires of coils  

(4) relative positions and orientations 

of the two coils 
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119. çdk'k dh ,d fdj.k ,dkad lfn'k 








 −−

5

ˆ2ˆ ji  ds vuqfn'k pyrh gqbZ nks 

ek/;eksa ds vUr%i`"B tks x − z ry gS] ij 
viofrZr gksrh gSA y > 0 ds fy, viorZukad 
2 gS tcfd y < 0 ds fy, ;g 2/5  gSA 
viorZu dks.k gS % 

(1) 






−

5

4
sin 1   

(2) 






−

5

3
sin 1  

(3) 






−

5

1
sin 1   

(4) 






−

2

1
sin 1  

  
119. A ray of light moving along the unit 

vector 






 −−

5

ˆ2ˆ ji  undergoes refraction 

at an interface of two media, which is 
the x − z plane. The refractive index for  

y > 0 is 2 while for y < 0, it is 2/5 . 
The angle of refraction is : 

(1) 






−

5

4
sin 1   

(2) 






−

5

3
sin 1  

(3) 






−

5

1
sin 1   

(4) 






−

2

1
sin 1  

120. ,d jkdsV tks ìFoh dh lrg ls iyk;u osx dh 
50% pky ls nkxk tkrk gS] ds }kjk çkIr 
vf/kdre Å¡pkbZ gS %  

¼;gk¡ R i`Foh dh f=T;k gS½ 

(1) 
2

R  (2) 
9

16R  

(3) 
8

R
 (4) 

3

R  

  120. Maximum height attained by a rocket 

fired with a speed equal to 50% of the 

escape velocity from earth's surface is : 

(Here R is radius of earth) 

(1) 
2

R  (2) 
9

16R  

(3) 
8

R
 (4) 

3

R
 

121. ;g ekurs gq, fd fdlh d.k dh fLFkfr esa 
vfuf'prrk bldh ns-czkXyh rjaxnS?;Z ds 
cjkcj gS] blds osx v esa vfuf'prrk ∆v 

lokZf/kd mi;qDr ls bl çdkj nh tkrh gS % 
 

(1) ∆v ≤ 
π4

v
 (2) ∆v ≥ 

π4

v  

(3) ∆v ≥ 
π4

vh
 (4) ∆v ≥ v

2π

h  

  121. Assuming that the uncertainty in the 

position of a particle is equal to its de-

Broglie wavelength, the uncertainty ∆v 

in its velocity v is most appropriately 

given by : 

(1) ∆v ≤ 
π4

v
 (2) ∆v ≥ 

π4

v  

(3) ∆v ≥ 
π4

vh
 (4) ∆v ≥ v

2π

h  
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122. fdlh vkn'kZ xSl ds 1 eksy ij fopkj djsa 
ftlds çlj.k ds vUrxZr rki ,oa vk;ru 

2
0 VTT α+=  }kjk lacaf/kr gSa tgk¡ 0T  

rFkk α /kukRed fu;rkad gSaA tc ;g xSl 
vius U;wure laHko nkc ij gS] rc bldk 
rki gS % 

(1) 4 0T  (2) 2 0T  

(3) 3 0T  (4) 2
0T  

  122. Consider one mole of an ideal gas for 

which during its expansion temperature 

and volume are related as 2
0 VTT α+=  

where 0T  and α are positive constants. 

When this gas is at its minimum 

attainable pressure, its temperature is : 

(1) 4 0T  (2) 2 0T  

(3) 3 0T  (4) 2
0T  

123. 1.6 × 2610−  kg æO;eku ds ,d d.k dh 
v)Z vk;q 6.93 s gS rFkk ,sls d.kksa dk ,d 
iqat ftlesa çR;sd d.k dh xfrt ÅtkZ 
0.05 eV gS] xfreku gSA iqat ds 1m pyus esa 
d.kksa dk {k; gksus okyk va'k gksxk % 
 
 

(1) 0.1 (2) 0.01 

(3) 0.001 (4) 0.0001 

  
123. The half life of a particle of mass            

1.6 × 2610− kg is 6.93 s and a beam of 

such particles is travelling with kinetic 

energy of each particle being 0.05 eV. 

The fraction of particles which will 

decay when the beam travels a distance 

of 1m : 

(1) 0.1 (2) 0.01 

(3) 0.001 (4) 0.0001 

124. ,d ifjorhZ /kkjk wtiwtii sincos 21 +=  
ds fy, oxZ ek/; ewy /kkjk gksxh % 

(1) ( )21
2

1
ii +  

(2) ( )
2/12

2
2
1

2

1
ii +  

(3) ( )
2

21
2

1
ii +   

(4) ( )
2/12

2
2
1

2

1
ii +  

  
124. For a varying current += wtii cos1  

wti sin2  the root mean square will be : 

(1) ( )21
2

1
ii +  

(2) ( )
2/12

2
2
1

2

1
ii +  

(3) ( )
2

21
2

1
ii +   

(4) ( )
2/12

2
2
1

2

1
ii +  
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125. ,d gh inkFkZ dh cuh rFkk cjkcj yackbZ dh 

nks NM+ksa dh f=T;kvksa dk vuqikr 
2:1: 21 =rr  gSA ;fn bu nksuksa NM+ksa ij 

leku ejksM+h cy vk?kw.kZ yxk;k tk,] rks NM+ksa 

ds O;korZu dks.kksa dk vuqikr gksxk % 
 

(1) 1 : 2 (2) 16 : 1 

(3) 4 : 1 (4) 1 : 4 

  
125. Two rods made from the same material 

and of same length have radii in the 

ratio .2:1: 21 =rr If these rods are 

subjected to the same torsional couple, 

then ratio of the angles of twists for the 

rods will be : 

(1) 1 : 2 (2) 16 : 1 

(3) 4 : 1 (4) 1 : 4 

126. i`Foh ds pqacdh; {ks= esa nksyu dj jgs ,d 
irys NM+ pqEcd dk vkorZdky T gSA pqEcd 

dks bldh yEckbZ ds yacor pkj leku Hkkxksa 
esa dkVk tkrk gS rFkk fQj bUgsa buds leku 

/kzqo lkFk j[krs gq, ,d nwljs ij j[kk tkrk 
gSA bl la;kstu dk leku {ks= esa vkorZdky 
gksxk % 

 

(1) 
4

T  (2) 4T  

(3) T2  (4) 2T 

  126. The time period of a thin bar magnet 

oscillating in the magnetic field of earth 

is T. The magnet is cut into four equal 

parts perpendicular to its length and 

then four parts are placed on each other 

with their like poles together. The time 

period of this arrangement in the same 

field will be : 

(1) 
4

T
 (2) 4T  

(3) T2  (4) 2T 

127. ,d d.k dk fojke æO;eku 0m  gSA bldh 

dqy ÅtkZ bldh fojke ÅtkZ dh nksxquh gksus 
ds fy,] bldk laosx gksuk pkfg, % 

(1) 0m c/2  

(2) 0m c/ 2  

(3) 0m c 

(4) 3 0m c 

  127. The rest mass of a particle is 0m . In 

order for its total energy to be twice its 

rest energy, its momentum must be :  

(1) 0m c/2 

(2) 0m c/ 2  

(3) 0m c 

(4) 3 0m c 
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128. ,d {kSfrt ikbi esa /kkjkjs[kh; ty çokg gks 
jgk gSA ikbi esa ,d LFkku ij] tgk¡ dkV 
{ks=Qy 10 2cm  gS ty çokg dk osx 1 m/s 

gS rFkk nkc 2000 Pa gSA ikbi ds nwljs LFkku 
ij tgk¡ dkV {ks=Qy 5 2cm  gS ty dk nkc 
gksuk pkfg, % 
 

(1) 2000 Pa (2) 1500 Pa 

(3) 1000 Pa (4) 500 Pa 

  128. Water is in streamline flow in a 

horizontal pipe. At one place in the pipe 

where area of cross section is 10 2cm  

the flow velocity is 1 m/s and pressure 

is 2000 Pa. At another place in the pipe 

where area of cross section is 5 2cm , 

the pressure of water must be : 

(1) 2000 Pa (2) 1500 Pa 

(3) 1000 Pa (4) 500 Pa 

129. ,d mÙksftr gkbMªkstu ijek.kq esa fdlh 
bysDVªkWu dh ÅtkZ − 3.4 eV gSA cksj fl)kar 
ds vuqlkj bldk dks.kh; laosx gksxk % 

(1) 
π

h   

(2) 
π2

h  

(3) 
π2

3h
 

(4) 
hπ2

3  

  
129. The energy of an electron in an excited 

hydrogen atom is − 3.4 eV. Its angular 

momentum according to Bohr's theory is : 

(1) 
π

h   

(2) 
π2

h  

(3) 
π2

3h
 

(4) 
hπ2

3
 

130. 27°C ij ,Y;wfefu;e dh Å"ek pkydrk 
210 W 11Km −−  gSA ;fn ,Y;wfefu;e ds 

fy, ykjsUt la[;k 2.10 × 810−  WΩ 2K−  

gS] rks bl rki ij ,Y;wfefu;e dh 
çfrjks/kdrk gS % 

(1) 3 × 610−  Ω m 

(2) 3 × 810−  Ω m 

(3) 2.8 × 610−  Ω m   

(4) 2.8 × 1010−  Ω m  

  130. The thermal conductivity of aluminium 

at 27°C is 210 W .Km 11 −−  If the 
Lorentz number for aluminium  is  
2.10 × 810−  WΩ ,K 2− then the 

resistivity of aluminium at this 
temperature is : 

(1) 3 × 610−  Ω m 

(2) 3 × 810−  Ω m 

(3) 2.8 × 610−  Ω m   

(4) 2.8 × 1010−  Ω m 
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131. ;fn Li
7

3
 vkSj He

4

2
 ukfHkdksa dh çfr 

U;wfDyvkWu cU/ku ÅtkZ Øe'k% 5.60 MeV 

rFkk 7.06 MeV gS] rc vfHkfØ;k Li
7

3
+ 









→ Hep

4

2

1

1
2  esa çR;sd α d.k dh xfrt 

ÅtkZ gksxh yxHkx % 

(1) 2.4 MeV  

(2) 8.6 MeV 

(3) 17.12 MeV  

(4) 19.6 MeV 

  
131. If the binding energies per nucleon for 

Li
7

3
 and He

4

2
 nuclei are 5.60 MeV 

and 7.06 MeV respectively, then for 

reaction Li
7

3
+ 








→ Hep

4

2

1

1
2  the 

Kinetic energy of each α particle will be 
nearly : 

(1) 2.4 MeV  

(2) 8.6 MeV 

(3) 17.12 MeV  

(4) 19.6 MeV 

132. ok;q esa lkcqu ds ,d ruq cqycqys ij çdk'k 

vfHkyacor vkifrr gS rFkk ijkofrZr gksrk gSA 

;fn bl çdk'k dh rjaxnS?;Z λ gS rFkk lkcqu 

dh fQYe dk viorZukad n gS rc fQYe dh 

U;wure eksVkbZ ftlds fy, ijkofrZr çdk'k ds 

fy, iw.kZr% fouk'kh O;frdj.k çkIr gksxk] gS % 

 

(1) n






 λ

8
  

(2) n






 λ

2
 

(3) n






 λ

4
  

(4) 






 λ

n4

3  

  

132. Light is incident normally on a thin 

soap bubble in air and get reflected. If 

the wavelength of this light is λ and the 

refractive index for the soap film is n, 

complete destructive interference will 

occur in reflected light for a minimum 

film thickness of : 

(1) n






 λ

8
  

(2) n






 λ

2
 

(3) n






 λ

4
  

(4) 






 λ

n4

3  
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133. leku vko`fÙk dh rhu T;koØh; rjaxsa fdlh 

Mksjh ij /kukRed x v{k ds vuqfn'k pyrh 
gSaA buds vk;ke Øe'k% A, A/2 rFkk A/3 ,oa 
dyk fu;rkad Øe'k% 0, π/2 o π gSaA ifj.kkeh 

rjax dk vk;ke gS % 
 

 

(1) A
6

11
  

(2) A
6

5  

(3) A
6

7
  

(4) 2/A  

  133. Three sinusoidal waves of same 

frequency travels along a string in 

positive direction of an x axis. Their 

amplitudes are A, A/2 and A/3 and their 

phase constants are 0, π/2 and π 

respectively. The amplitude of the 

resultant wave is : 

(1) A
6

11
  

(2) A
6

5  

(3) A
6

7
  

(4) 2/A  

134. ,d yhVj ds can ¶ykLd esa dqN ikjk Hkjk gSA 
;g ik;k tkrk gS fd fofHkUu rkiksa ij ¶ykLd 
ds Hkhrj ok;q dk vk;ru vifjofrZr jgrk 
gSA ¶ykLd esa ikjs dk vk;ru gS % 

¼fn;k gS dk¡p ds fy, js[kh; çlkj xq.kkad =  

9 × 6
10

−  çfr °C rFkk ikjs ds fy, vk;ru 
çlkj xq.kkad = 1.8 × 410−  çfr °C½  
 

 

(1) 150 3cm   

(2) 1.5 × 210− 3cm  

(3) 850 3cm   

(4) 500 3cm  

  134. A one litre closed flask contains some 

mercury. It is found that at different 

temperatures the volume of air inside 

the flask remains unchanged. The 

volume of mercury in the flask is : 

(Given the coefficient of linear 

expansion of glass = 9 × 6
10

−  per °C 

and coefficient of volume expansion of 

mercury = 1.8 × 410−  per °C½  

(1) 150 3cm  

(2) 1.5 × 210− 3cm  

(3) 850 3cm   

(4) 500 3cm  
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135. çkjaHk esa fLFkj ,d gkbMªkstu ijek.kq voLFkk 

n = 4 ls  n = 1 esa laØe.k djrk gSA rc H-

ijek.kq dk çfrf{kIr laosx ¼eV/c ek=d esa½  

gS % 

(1) 13.60 (2) 12.75 

(3) 0.85 (4) 22.1 

  
135. An initially stationary hydrogen atom 

makes a transition from state n = 4 to  

n = 1. Then the recoil  momentum of H 

atom (in eV/c unit) is : 

(1) 13.60 (2) 12.75 

(3) 0.85 (4) 22.1 

136. jsfM;ks,fDVo inkFkZ ds ,d çfrn'kZ ds fy, α 

{k; ds fy, vkSlr vk;q 1620 o"kZ rFkk β {k; 

ds fy, vkSlr vk;q 520 o"kZ ikbZ tkrh gSA 

bl uewus dh v/kZ vk;q ¼o"kZ esa½ gS] yxHkx % 

 

 

(1) 1483 (2) 394 

(3) 273 (4) 1123 

  136. For some specimen of a radioactive 

material the average life for α decay is 

found to be 1620 years and for β decay 

average life is found to be 520 years. 

For this specimen the half life (in years) 

is nearly : 

(1) 1483 (2) 394 

(3) 273 (4) 1123 

137. 1 kW/ 2m  rhozrk dk çdk'k 1 2cm  {ks=Qy 

dh lrg ij vfHkyacor fxjrk gS rFkk iw.kZr% 

vo'kksf"kr gks tkrk gSA lrg ij fofdj.k cy 

gS % 

(1) 6.6 × N10 10−   

(2) 3.3 × N10 11−   

(3) 1.7 × N10 10−   

(4) 3.3 × N10 10−   

  
137. Light with intensity of 1 kW/ 2m  falls 

normally on a surface with area of 

1 2cm  and is completely absorbed. The 

force of the radiation on the surface is :  

(1) 6.6 × N10 10−   

(2) 3.3 × N10 11−   

(3) 1.7 × N10 10−   

(4) 3.3 × N10 10−   
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138. 2
2m  {ks=Qy okyh ,d f[kM+dh ,d xyh esa 

[kqyrh gSA tgk¡ xyh ds 'kksj ds dkj.k f[kM+dh 

ij /ofu Lrj 60 dB gks tkrk gSA f[kM+dh esa 

/ofu rjaxksa ds }kjk fdruh /ofud 'kfDr 

ços'k djrh gS \ 

(1) 0.2 µW  

(2) 20 mW 

(3) 20 µW  

(4) 2 µW 

  
138. A window whose area is 2

2m  opens 

on a street. Where the street noise 

results in an intensity level at the 

window of 60 dB. The acoustical power 

entering the window via sound wave is : 

(1) 0.2 µW  

(2) 20 mW 

(3) 20 µW  

(4) 2 µW 

139. L yackbZ dh ,d ,Y;qfefu;e NM+ ,d fljs ls 

L/6 nwjh ij dlh gksdj ,d ifjorhZ vko`fÙk 

ds pkyd òksr }kjk vuqnS?;Z dEiu djokbZ 

tkrh gSA og U;wure vko`fÙk tks vuqukn 

mRiUu djrh gS] 4400 Hz gSA NM+ dh yackbZ 

gS % 

¼fn;k gS] ,Y;qfefu;e esa /ofu dh pky  

5500 m/s gSA½ 

(1) 5/6 m  

(2) 15/8 m 

(3) 5/4 m   

(4) 6/5 m 

  
139. An aluminium rod of length L is 

clamped at L/6 from one end and set 

into longitudinal vibrations by a 

variable frequency driving source. The 

lowest frequency that produces resonance 

is 4400 Hz. The length of the rod is : 

(Given the speed of sound in aluminium 

is 5500 m/s) 

(1) 5/6 m  

(2) 15/8 m 

(3) 5/4 m   

(4) 6/5 m 
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140. ;ax f}fLyV ç;ksx esa nks fLyVksa ls çdk'k dh 

rhozrk I rFkk 4I gSA dsUæh; mfPp"B ls fdruh 

nwjh ij rhozrk insZ ij vkSlr rhozrk ds 

cjkcj gksxh \ ¼β fÝat pkSM+kbZ gS½ 

 

 

(1) β/2  

(2) β/3 

(3) β/6  

(4) β/4 

  
140. Intensities of light due to two slits of 

Young's double slit experiment are I 

and 4I. How far from the central 

maximum will the intensity be equal to 

the average intensity on the screen ?  

(β is the fringe width) 

(1) β/2  

(2) β/3 

(3) β/6  

(4) β/4 

141. nks ckWDl A o B esa ,d gh xSl ds v.kq leku 

la[;k esa gSaA ;fn ckWDlksa ds vk;ru Øe'k% 

AV  rFkk BV  gSa rFkk buds laxr ek/; eqDr 

iFk Aλ  rFkk Bλ  ls fu:fir gSa] rc % 

 

(1) Aλ  = Bλ  

(2) 
B

B

A

A

VV

λ
=

λ  

(3) 
B

B

A

A

VV

λ
=

λ
 

(4) Aλ AV  = Bλ BV  

  141. Two boxes A and B contain an equal 

number of molecules of the same gas. If 

the volume of the boxes are AV  and 

BV  respectively and Aλ  and Bλ  

denotes the respective mean free paths, 

then : 

(1) Aλ  = Bλ  

(2) 
B

B

A

A

VV

λ
=

λ  

(3) 
B

B

A

A

VV

λ
=

λ
 

(4) Aλ AV  = Bλ BV  
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142. gkbMªkstu ijek.kq dh ewy voLFkk esa ,d 

bysDVªkWu ijek.kq ls iyk;u djus ds fy, 

vko';d U;wure ÅtkZ ls 1.5 xquk vf/kd 

ÅtkZ vo'kksf"kr dj ysrk gSA rc mRlftZr 

bysDVªkWu dh ns-czkXyh rjaxnS?;Z gS % 

 

(1) 1.97 × 1810− m 

(2) 1.55 × 610− m 

(3) 1.0 × 410− m 

(4) 4.7 × 1010− m 

  
142. An electron in ground state of an 

hydrogen atom absorbs an energy which 

is 1.5 times the minimum energy 

needed by the electron to escape from 

atom. Then the de-Broglie wavelength 

of the emitted electron is : 

(1) 1.97 × 1810− m 

(2) 1.55 × 610− m 

(3) 1.0 × 410− m 

(4) 4.7 × 1010− m 

143. ,d d.k fdlh ,sls LFkku tgk¡ ,d fu;r 

pqacdh; {ks= rFkk ,d fu;r fo|qr~ {ks= 

mifLFkr gS] esa fojke ls eqDr fd;k tkrk gSA 

;fn nksuksa {ks= ijLij lekUrj gSa] rks d.k dk 

iFk gS] ,d % 

(1) o`Ùk  

(2) ijoy; 

(3) dqaMyh  

(4) ljy js[kk 

  
143. A charged particle is released from rest 

in a region where there is a constant 

magnetic field and a constant electric 

field. If the two fields are parallel to 

each other, the path of the particle is a :  

(1) circle  

(2) parabola 

(3) helix  

(4) straight line 
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144. ,d d.k oØ 2/2xy =  tgk¡ 2/2
tx =  gS] 

dh /kukRed 'kk[kk ds vuqfn'k pyrk gSA x 

rFkk y ehVj esa rFkk t lsd.M esa ekis x, gSaA 

t = 2s ij d.k dk osx (m/s esa) gS % 

 

(1) ji ˆ4ˆ2 −   

(2) ji ˆ4ˆ2 +  

(3) ji ˆ2ˆ2 +   

(4) ji ˆ2ˆ4 −  

  
144. A particle moves along the positive 

branch of the curve ,2/2
xy =  where 

.2/2
tx =  x and y are measured in 

meter and t in second. At t = 2s the 

velocity of particle is (in m/s) : 

(1) ji ˆ4ˆ2 −   

(2) ji ˆ4ˆ2 +  

(3) ji ˆ2ˆ2 +   

(4) ji ˆ2ˆ4 −  

145. L pkSM+kbZ ¼rFkk vuUr Å¡pkbZ½ ds ,d foeh; 

ckWDl esa ,d bysDVªkWu ewy voLFkk esa c) gSA 

bysDVªkWu ds ckWDl esa ck,¡ ,d frgkbZ Hkkx   

(x = 0 ls x = L/3) esa ik, tk ldus dh 

çkf;drk gS] yxHkx % 

 

(1) 0.20 (2) 0.40 

(3) 0.60 (4) 0.80 

  
145. A ground state electron is trapped in a 

one dimensional box of width L (and of 

infinite height). The probability that the 

electron can be located in the left one- 

third of the box   (x = 0 to x = L/3) is 

nearly : 

(1) 0.20 (2) 0.40 

(3) 0.60 (4) 0.80 

146. eku ysa fd fdlh d.k ij dk;Zdkjh cy 
236)( xxxF +−=  gS ¼x, ehVj esa rFkk F, 

U;wVu esa gS½A d.k dh vf/kdre laHko ;kaf=d 

ÅtkZ rkfd ;g nksyuh xfr dj lds] gS ¼xfr 

x > 0 ds fy, gksrh gS½ % 

 

(1) 1 J (2) 2 J 

(3) 4 J (4) 8 J  

  
146. Suppose a particle is subjected to a 

force given by 236)( xxxF +−= (x is in 

meter, F is in Newton). The maximum 

possible mechanical energy of the 

particle so that it executes oscillatory 

motion is (the motion occurs for x > 0) : 

(1) 1 J (2) 2 J 

(3) 4 J (4) 8 J 
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147. ,d d.k ewyfcUnq ls osx v0 ls x v{k ds 

vuqfn'k xfr çkjaHk djrk gSA d.k dk eUnu 

d.k dh ewyfcUnq ls nwjh ds oxZ ds lekuqikrh 

gSA ewyfcanq ls og nwjh tgk¡ d.k #drk gS 

lekuqikrh gS % 

 

(1) v
2/1

0  ds  

(2) v
3/1

0  ds 

(3) v0 ds  

(4) v
3/2

0  ds 

  
147. A particle starts from origin with 

velocity v0 along x axis. The 

deceleration of particle is proportional 

to the square of the distance of the 

particle from origin. The distance at 

which the particle stops is proportional 

to : 

(1) v
2/1

0    

(2) v
3/1

0   

(3) v0   

(4) v
3/2

0   

148. 1 kg æO;eku dh ,d /kkfRod xsan dks 20°C 

rki ds d{k esa 20 W ds ghVj }kjk xeZ fd;k 

tkrk gSA dqN le; ckn xsan dk rki 50°C 

ij fLFkj gks tkrk gSA tc xsan dk rki 30°C 

Fkk rc ;g fdl nj ij ifjos'k dks Å"ek 

R;kx dj jgh Fkh \  ¼U;wVu ds 'khryu fu;e 

dks oS/k ekusa½ 

 

(1) 20 W  

(2) 
3

20
W 

(3) 
6

20
W  

(4) 10 W 

  148. A metal ball of 1 kg mass is heated by a 

20 W heater in a room at 20°C. After 

some time temperature of ball becomes 

steady at 50°C. At what rate the ball 

was loosing heat to surrounding when 

its temperature was 30°C ?  

(Assume Newton's law of cooling to be 

valid) 

(1) 20 W  

(2) 
3

20
W 

(3) 
6

20
W  

(4) 10 W 
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149. ,d VªkalQkWeZj dh çkFkfed rFkk f}rh;d 
dqaMfy;ksa esa Qsjksa dh la[;k Øe'k% 40 rFkk 5 

gSA f}rh;d ifjiFk esa 2 kΩ dk ,d yksM 
çfrjks/kd yxk gS rFkk f}rh;d ifjiFk esa  
100 mA /kkjk gSA bl VªkalQkWeZj ds fy, 
ijkofrZr çfrck/kk gS % 
  

(1) 128 kΩ (2) 2 kΩ 

(3) 168 kΩ (4) 200 kΩ 

  
149. The number of turns in the primary and 

the secondary coils of a transformer are  
40 and 5 respectively. A load resistance 

of 2 kΩ is connected in secondary 

circuit and the current in secondary 

circuit is 100 mA. The reflected 

impedance of the transformer is : 

(1) 128 kΩ (2) 2 kΩ 

(3) 168 kΩ (4) 200 kΩ 

150. ,d xSl x
PV = fu;rkad }kjk fn, x, 

Å"ekxfrd çØe dk ikyu djrh gSA ,sls 
fdlh çØe esa xSl dk vk;ru α = 4 xquk 
c<+kus ij blds lkFk gh nkc β = 8 xquk ?kV 

x;kA x dk eku gS % 

 

(1) 5/3 (2) 3/2 

(3) 7/5 (4) 5/2 

  
150. A gas follows a thermodynamic process 

given by x
PV = constant. In such a 

process the volume of the gas was 

increased α = 4 times and 

simultaneously the pressure decreased 

by β = 8 times. The value of x is : 

(1) 5/3 (2) 3/2 

(3) 7/5 (4) 5/2 
 



6. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys@uhys 
ckWy IokbaV iSu ls iw.kZr;k Hkjuk gS] tSlk fd uhps fn[kk;k 
x;k gS % 

1    �    3    4 
vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn mÙkj okys 
[kkus dks fuEu izdkj ls Hkjrs gSa % 

�    �    �    � 
;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk mÙkj xyr 
ekuk tk,xkA 

  6. Answers   to  questions  in answer sheet are  to  be  given by 
darkening complete circle using Black/Blue ball point pen 
as shown below : 

1    �    3    4 

The answer will be treated wrong, if it is marked, as given below : 
 

�    �    �    � 

If you fill more than one circle it will be treated as a wrong 

answer. 

7. jQ dk;Z iz'u&iqfLrdk esa bl iz;kstu ds fy, nh xbZ [kkyh txg ij gh djsaA (Rough work should be done only in the space 

provided in the Question Booklet for the same.) 

8. lHkh mÙkj dsoy OMR mÙkj i=d ij gh vafdr djsaA vius mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq 'osr jatd ¼lQsn ¶Y;wM½ dk 
iz;ksx fuf"k) gSA (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener 

(white fluid) is not allowed for changing answers.) 

9. izR;sd iz’u ds fy, fn, x, pkj fodYiksa esa ls mfpr fodYi ds fy, OMR mÙkj i=d ij dsoy ,d òÙk dks gh iwjh rjg uhys@dkys 
ckWy IokbaV iSu ls HkjsaA ,d ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk ldrk gSA (Out of the four alternatives for each 

question, only one circle for the most appropriate answer is to be darkened completely with Blue/Black Ball Point Pen on the 

OMR Answer Sheet. The answer once marked is not allowed to be changed.) 

10. vH;FkhZ lqfuf’pr djsa fd bl mÙkj i=d dks eksM+k u tk, ,oa ml ij dksbZ vU; fu’kku u yxk,¡A vH;FkhZ viuk vuqØekad mÙkj i=d 
esa fu/kkZfjr LFkku ds vfrfjDr vU;= u fy[ksaA (The candidates should ensure that the Answer Sheet is not folded. Do not make 

any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer 

Sheet.) 

11. iz'u&iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] D;ksafd fdlh Hkh ifjfLFkfr esa ¼iz'u&iqfLrdk ,oa mÙkj i=d ds Øekad esa fHkUurk 
dh fLFkfr dks NksM+dj½ nwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhA (Handle the Question Booklet and Answer Sheet with 

care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of 

Question Booklet will not be provided.) 

12. iz'u&iqfLrdk@mÙkj i=d esa fn, x, Øekad dks vH;FkhZ lgh rjhds ls gLrk{kj pkVZ esa fy[ksaA (The candidates will write the correct 

Number as given in the Question Booklet/Answer Sheet in the Signature Chart.) 

13. vH;FkhZ dks ijh{kk gkWy@d{k esa izos’k i= vkSj igpku i= ds vfrfjDr fdlh izdkj dh ikB~;lkexzh] eqfnzr ;k gLrfyf[kr dkxt dh 
ifpZ;k¡] istj] eksckby Qksu] bysDVªkWfud midj.k ;k fdlh vU; izdkj dh lkexzh dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA 
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic 

device or any other material except the Admit Card and Identity Card inside the examination hall/room.) 

14. i;Zos{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk izos’k dkMZ ¼jksy ua0½ vkSj igpku i= fn[kk,¡A (Each candidate must show on 

demand his/her Admit Card (Roll No.) and identity card to the Invigilator.) 

15. dsUnz v/kh{kd ;k i;Zos{kd dh fo’ks"k vuqefr ds fcuk dksbZ vH;FkhZ viuk LFkku u NksMa+sA (No candidate, without special permission of 

the Superintendent or Invigilator, should leave his/her seat.) 

16. dk;Zjr i;Zos{kd dks viuk mÙkj i=d fn, fcuk ,oa gLrk{kj pkVZ ij nksckjk gLrk{kj fd, fcuk vH;FkhZ ijh{kk gkWy ugha NksMa+sxsA ;fn 
fdlh vH;FkhZ us nwljh ckj gLrk{kj pkVZ ij gLrk{kj ugha fd, rks ;g ekuk tk,xk fd mlus mÙkj i=d ugha ykSVk;k gS vkSj ;g 
vuqfpr lk/ku dk ekeyk ekuk tk,xkA OMR mÙkj i=d esa fu/kkZfjr LFkku ij lHkh vH;fFkZ;ksa }kjk ck;sa gkFk ds vaxwBs dk fu’kku 
yxk;k tkuk gSA vaxwBs dk fu'kku yxkrs le; bl ckr dk /;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh 
ek=k u rks cgqr vf/kd gks o u gh cgqr deA (The candidates should not leave the Examination Hall without handing over 

their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the 

Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. 

All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should 

be properly inked i.e. they should not be either over inked or dried in nature.) 

17. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA (Use of Electronic/Manual Calculator is prohibited.) 

18. ijh{kk gkWy esa vkpj.k ds fy,] vH;FkhZ foojf.kdk esa nh xbZ izfØ;k@fn’kk&funsZ’k o cksMZ ds lHkh fu;eksa ,oa fofu;eksa dk fo'ks"k /;ku j[ksaA 
vuqfpr lk/kuksa ds lHkh ekeyksa dk QSlyk cksMZ ds fu;eksa ,oa fofu;eksa ds vuqlkj gksxkA (The candidates are governed by 

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in 

the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.) 

19. fdlh gkyr esa iz'u&iqfLrdk vkSj mÙkj i=d dk dksbZ Hkkx vyx u djsaA (No part of the Question Booklet and Answer Sheet shall 

be detached under any circumstances.) 

20. ijh{kk lEiUu gksus ij] vH;FkhZ d{k@gkWy NksM+us ls iwoZ mÙkj i=d d{k&i;Zos{kd dks vo’; lkSai nsaA vH;FkhZ vius lkFk bl 
iz'u&iqfLrdk dks ys tk ldrs gSaA (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator 

in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.) 
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